PISCO.

http://www.PiSCO.CO.jp

43T104LNOO  ONILLIH

IATVA

—
[
@
m

Push-In Fitting Type for Pneumatic Piping

Tube Fitting Standard Series |

® Push-In Fitting for General Pneumatic Piping.

@ Wide Variety of Products.

® Rotatable Resin Body after Installation.

® Centralized Piping.

Triple type (PKD, PKG, PKJ) and twin
triple type (PKVD, PKVG) are compact
designed to achieve centralized piping.

@ Optional Selection of Resin Color (light-gray) and Clean-Room Package.

Fluorine-based grease is used on O-ring for clean-room package.

Products are packed in a clean room equipment to ISO class 6. |mm

Color
Cap




* Fitting Series
Tube Fitting
B Model Designation (Example) I

@ecls-on | |

FITTING

v

Tube Fitting Packaging option
Type Color option
@ Type Tube dia. Thread size
Code Type Code Type Code Type Code Type
C Straight OC | Inner Hex. Straight L Elbow LL Long Elbow
LH 45° Elbow H Single Banjo OL |Hex.Holed Banjo| B Branch Tee
D Run Tee X BranchY VX Tripod Elbow AX Branch Elbow
A Twin Banjo RX |Double BranchY| HW Double Banjo HT Triple Banjo
AW | Double Twin Banjo| AT | Triple Twin Banjo| CF | Female Straight| MF |Bulkhead Female Straight
LF Female Elbow KD Triple RunTee | KVD |TwinTriple RunTee| AF | Link-up Twin Banjo
HF Link-up Banjo U Union Straight E Union Tee \ Union Elbow
Y UnionY M Bulkhead Union| MP  [Bulkhead Union P| ML | Bulkhead Union Elbow
VU Tripod Union AU  |Branch Union Elbow| ZA Union Cross G | Unequal Union Straight
EG |Unequal UnionTee| RG |Unequal DoubleY| W |Unequal UnionY| KG |Unequal Triple Tee
KVG |UnequalTwinTripleTee| ZB | Unequal Cross | ZC | Reducing Cross| GJ | Unequal Plug-n Straight
LJ Plug-in Elbow | LGJ |Unequal Plug-in Elbow | LLGJ |Unequal Plug-nLongElbow| LHJ |45° Plug-in Elbow
LLJ |Long Plug-in Elboow | YJ Plug-in Y WJ  |Unequal Plug-inY| KJ |Plug-in Triple Tee
RJ  |Plug-in Double Y F  |Extension Screw Adaptor|  FF | Unequal Screw Union|  |1J Union Stem
IG  |Unequal Union Stem| TJ PT Jack PF Cap P Plug
% @ Tube dia. (3¢ In case that @ indicates thread, select thread size from table ®)
Tube dia. mm size inch size
Code 4 6 8 10 | 12 | 16 |5/32|3/16| 1/4 |5/16| 3/8 | 1/2 | 5/8
Size (mm) | o4 26 08 | 010 | 012 | 016 |©3.97 |04.76 |06.35| 0794 |09.53 |012.7 |215.88
® Thread size (3 In case that ® indicates tube dia., select tube dia. from table®)
Thread size Metric thread (mm) Taper pipe thread
Code M5 M6 01 02 03 04
Size M5 X 0.8 M6 X 1 R1/8 R1/4 R3/8 R1/2
Thread size |UNF thread (mm) NPT thread
Code u1iou N1U N2U N3U N4U NouU
Size 10-32UNF NPT1/8 NPT1/4 NPT3/8 NPT1/2 NPT1/16

% The unit of wrench size is inch (the code suffix is “U").
® Color option

(® Packaging option

@ : Color option ® : Packaging option
Code No code W No code Cc
Specification Standard spec. Light-gray spec. Standard package Clean-room package
Release-ring color Black Light-gray @ : Selected color Light-blue (3% 1)
Resin body color Black Light-gray @ : Selected color Light-gray

% 1. When “W” is selected on @ Color option, body color is light-gray.
3% 2. Release-ring color is white for inch-size products.



PISCO.

http://www.piSC0.CO.jp

B Specifications G

-
3

Fluid medium Air / Water (%) 2
Max. operating pressure 1.0MPa 5
Max. vacuum -100kPa 2
Operating temp. range 0~60T (No freezing) é
A\ Warning 3

% . Make sure to follow the instructions below when the fluid medium is water.
1. Surge pressure must be controlled lower than max. operating pressure.
2. Tap water can be used. Consult with PISCO for using other kind of water.
3. Be sure to place Insert Ring into the tube edge when using water as a fluid medium.

IATVA

B Construction (Elbow: PL) IS

.
3/
o
S

=2
SO
3
Zr=]
m
=

Lock-claws (stainless steel)

Tube end

Release ring (POM)

Fitting body (PBT) Tube

O-ring (NBR) Standard
Series

Guide ring (nickel-plated brass)

Elastic sleeve (NBR)

Thread body (nickel-plated brass)

Taper pipe thread: Sealock-coating
Metric thread: with gasket (SUS304+NBR)
% Clean-room package: POM gasket

PP
Series

A Detailed Safety Instructions I

'Before using PISCO products, be sure to read “Safetyinstructions” and “Safety Instruction‘
lManuaI" on page 23 to 27 and “Common Safety Instructions for Fittings” on page 33 to 35. ]

Warning
1. When the fluid medium is water, do not use Tube Fitting Standard Series unless the
operating environment meets all the described specifications in the catalog. Otherwise,
it may cause damage to the products, the escape of tubes and a fluid Ieakage.

Caution (Clean-room package)

1. As for Push-In Fitting, the functional part where tube is inserted may slightly slide due to
an internal pressure change and this may generate dusts. Avoid using the fitting in the
clean room of ISO class from 1 to 5. Under the vibrating condition, check the amount of
dust generated from the fitting and tubes, by using actual facilities.




& Fitting Series
Tube Fitting
B Standard Size List IIIIIININGGG

©]
=
E Connection: Thread © Tube
S —— Tube O.D. _— —— Tube O.D.
P 9 % 4 [ 6| 8 [10[12/165323161/45163/8[1/2/5/8 P 9 46 8[10/12/165523161/45163/8[1/255/8
=N Straight P44M5%X08 @ @ [ ] Tripod Elbow | P.66|M5X 08/ @
M6 X 1@ @ =34 Branch Elbow| P.67|M6 X 1
R1/8 ©|® ® ® o o000 R1/8 |©®|©® ®®
R1/4 | ©® 000 e ©060e R1/4 | ©® ©® ©®® e
R3/8 o000 00 o0 R3/8 o000
R1/2 L JC I ) [ ] R1/2 [ ]
=% Inner Hex. Straight| P.46|M5X 0.8 @ @ M= Twin Banjo | P68M5X 08 @
M6X 1@ @ R1/8
R1/8 (@@ R1/4
R1/4 [ J [ J [ ] R3/8
R3/8 (0] ) R1/2
R1/2 oo [ ] =224 Double Branch Y| P72| R1/8
Elbow P49M5X 08/ @ @ (L ) R1/4
M6 X 1@ @ [IZ1T Double Banjo| P74/ R1/8 D)
R1/8 |@®|® [ J Triple Banjo| P75 R1/4 [ ]
R1/4 ®|® [ [ZZAT] Double Twin Banjo| P76/ R3/8 )
R3/8| |@ [ J Triple Twin Banjo| P.77| R1/2
R1/2 [ ] I[=Is1d Female Straight| P47|Rc1/8 e o
Long Elbow | P54/M5X0.8 @ Rc1/4 e o
R1/8 © @ @® L0 ) Rc3/8
R1/4 @0 000 ©eeeee I=INTS Bukhead Female Straight)  P.56| Rc1/8
R3/8 o000 o000 Rc1/4
R1/2 o LX) Rc3/8
45°Elbow P55/ R1/8 o0 Rc1/2
R1/4 LJC I=/"4 Female Elbow, P.83M5X03/@® @ o0 0
R3/8 o000 M6 X 1@
R1/2 [ ) Rc1/8|@ o0e
W=IEH Single Banjo| P69 M5X0.8 @ @ Rc1/4/@ © @ ® @ o000
M6X 1@ @ Rc3/8| @ ©® ©®O® o000 00
R1/8 | @ @ Rci1/2 [ J( ) L J( )
R1/4 [ J [ ]
R3/8 0 Y0 Type Page | Theadsze 4T“be O'g"‘("‘"‘)s Tube 0D2
41 R1/2 L ® @ TrpeRinTee P71 R1B | @
Hex. Holed Banjo, P.55|M5X 0.8/ @ iple Run Tee 71 R1/8 ° ° 6
R1/8 ° R1/4 8
— R1/4 ° . R3/8 [ ] 10
Standerg TWnTripeRnTee]  P73) R1/4 | @ ® 8
Series R3/8 ° ° 8
R1/2 R3/8
[ ] [ ] 10
=N Branch Tee| P57|M5X08/@ @ R/ ° ° 10
=N Run Tee P59M6 X 1@ | @
R1/8 | @ ® ®® o000 T Page Theadszel Tube O.D. Thead 2
Ri/4 © 0000 ©eeeee ype a9 468 [10[125m /4563812
R38| ©©®©®ee o000 =23 Link-up Twin Banjo| P.68|M5 X 0.8/ @ M5X08
R1/2 L JC ) [ J( ) R1/8 [ Rc1/8
Branch Y P62M5X08/ @ @ R1/4 [ J Rc1/4
M6 X 1@ @ R3/8 [ ] Rc3/8
R1/8 | @ @ R1/2 Rc1/2
R1/4 | @@ [ =513 Link-up Banjo| P70(M5X 0.8 M5X08
R3/8 [} [} R1/8 Rc1/8
R1/2 [ ) R1/4 [ @® [Rcl/4
R3/8 [ ) ©® @ ® Rc3/8
R1/2 [ ] @ Rc1/2
Connection: Thread © Thread
Thread size2 ] Thread size2
Type Page Theadst| e 08 T Rc1/8| Re1/4 | Re3/8| Rel/2 Type Page [Thead el 1o 6 6] Ro1/8 | Rel/4 | Roals
T Edtension Serew Adaptor]  P.81|M5X0.8) @ [} == Uneaual Screw Union| — P.80[ Rc1/8 | @
R/ @ © | @ @ Rcl/4 | [ J
R1/4| @ ® [ ) ® [ ) Rc3/8 | [ ) °
R3/8 e o o o Rc1/2 | ° ()
R1/2 [ )
( pPug N Connection:
Tube O.D. Tube Tube dia.2(mm)
W2 Page 4 e 10 |12 | 16 [ 1/4|5/16] 3/8 Type Page lgatm| 4 | 6 | 8 | 10 | 12
=24 Cap P82 @ © ©®& | ® @ ® O  ©® [:ZIh Unegual Union Stem P79 6 [}
WEEN Plug P82 ® ®© © ®© & & & o o 8 [ [}
10 [ ] [ J
12 [} [ ]
16 [ ] [ ]




PISCO.

http://www.PiSCO.CO.jp

Connection: Tube & Tube (Equal dia.)

jul
=1
d
Tyoe Page Tube O.D. Type Pa Tube O.D. %
P %€/ 4 8 [10] 12 163/16[1/4[5/16/3/8[1/2/5/8 P 94 16 [ 8 [10[12] 16 [1/4]5/16/3/8]1/2[5/8
W=IVH Union Straisht| P45/ @ (@ | @ (@ | @ | @ ® ® ® O ® [z Bulkhead UnionP| P64 o oo e oo o o
EZ=1 UnionTee | P61/® | © © ©®(® | @ 00 I=I7TM Bulkhead Union Elbow| P65 Q
H=2"A Union Elbow| P51 @ | @ (@@ | @ | ® [JCIK) [271¥] Tripod Union| P65 o000 E]
2@ Union Y R ICIC I I ) (LK) [=Z2X¥] Branch Union Elbow|  P.66 =]
IEL"H Bulkhead Union| P56/ @ (@ (@ (@ [@ (@@ (@ [®[O® [=742 Union Cross| P78 LI IO %
Connection: Tube © Tube (Unequal dia.) <
>
Tube 0. Tube O.D. 2 Tube 0.0. Tube O.D. 2 =
Type Page| im) | 4] 6|8 [10[12]16[ae[1/4i16/3/1/2/5/8 Type Page im) |4 [ 6] 8[10 12|16 1/4/56[3i8 /2[5 [l
I Unegual Union Straight| P45| 6 | @ 1T Unequal UnionY| P63| 6 |@
8 @0 8 0 e
10 (X J 10 o e
12 [ X J [ 12 (2K J
16 ) 14 | @
14 |@ 5/16 [ ]
5/16 [ [ J 3/8 [ ]
3/8 [ J [=4E] Unequal Triple Tee[ P71] 6 | @
1/2 L JC O ) 8 @ e
5/8 [ ] 10 o e
I[===1 Unequal Union Tee) P61/ 4 [ [ZATTE] Uneouel TwinTripleTee| P73| 8 @ | @
6 @ |@ 10 { 3K J =
s oo @ 4] Unequal Cross| P78 8 ® 3%
10 o0 o [274# Reducing Cross| P79 10 ) Sa
12 o0 o 12 ° §5
16 ) 5/16 ° *2
5/32 o0 3/8 [ ] -
3/16 [ ) 12 [ ]
1/4 °
5/16 [ J [
3/8 °
1/2 [ ] Tube dia. (mm)
(28] Unequal Dovble Y| P72| 6 | @ ES Page 4 176 | 8 | 10 | 12 | 16
8 [ ] E=FEUnionStem| P79 @ | ®@ | ®@ | ® | ©® | ®
Connection: Tube © Fitting
Tube dia. Tube O.D. Tube dia. Tube O.D. .
Type Page| “m) | 4168 [10[12]16 632 1/4]5/16/3/8] 12 Type Page 0" 4 16 81012 16550 Al 12 [
[=IH] Unequal Pugein Straight|  P48| 4 [ ] [IW®] Plug-in Elbow| P52| 4 |@
6 @ 6 [ ] Mini
s @e o 8 ) Series
10 ©0e [ JK J 10 [}
12 o0 0 o000 12 [ ]
16 o 5/32 [ ]
1/4 [ J 1/4 [ J
5/16 [ 2K J 5/16 [ )
3/8 [ ) 3/8 [ ]
1/2 [0 ) 1/2 [ )
Plug-in Elbow, P51| 4 |@ Plug-inY | P64 4 |@
6 [ ] 6 [
8 [ ] 8 [ ]
10 [ ) 10 [ ]
12 [ ) 12 [
16 [ ) 16 [ )
5/32 [ J Unequal Plug-nY| P64| 6 |@
1/4 [ 8 [}
5/16 [ ] 10 [ ]
3/8 [ ] 12 [ ]
12 [ 16 [ ]
[SIWZH] 45°Plug-in Elbow| P53 8 [} =@ Plug-in Triple Tee) P71| 6 |@
10 [ ] 8 00
12 [ 10 [ )
16 [ ] Plug-in Double Y| P72| 6 |@
. Tube O.D. 8 | @
Type Page ubeda| 4 | 6 [ g 10| 12 [5/623/16/1/4]5/16/3/8 Tube O.D. (mm)
Uneal Plg-nEbow| P52| 6 | @ Type e R 4
8 @@ [ZEN] Unenud Plgin LongEboow| P53] 6 [ )
10 [ 2 J . T
2 o0 - Connection: Thread & Fitting
51/1‘2 L4 L : ° Type Page (Thread si 4 Tulée L (rgm) 10
3/8 e e PT Jack P80M5X08 @ [J
1/2 [ ) [ JX J R1/8 [ J [ J [ ]
R1/4 [ J [
R3/8 [ ] [ ]




I = Fitting Series
. Tube Fitting

Bl How to insert and disconnect N
1. How to insert and disconnect tubes

@ Tube insertion
Insert a tube into Push-In Fitting up to the tube end. Lock-claws bite the tube
and fix it automatically, then the elastic sleeve seals around the tube.
Refer to “2. Instructions for Tube Insertion” under “Common Safety Instructions
for Fittings”.

FITTING

® Tube disconnection
The tube is disconnected by pushing release-ring to release Lock-claws.
Make sure to stop air supply before the tube disconnection.

2. How to tighten thread

(D Tightening thread
There are two ways to tighten thread. Use a spanner or
an impact wrench for a hexagonal-column. A hex key is
43 for an inner hexagonal socket. Inner hexagonal type can
save spaces.
Refer to “Table 2: Recommended tightening torque /
Sealock color / Gasket materials™ under “4. Instructions

I
Standard
Series

— T VT
Inner hexagonal socket

for Installing a fitting” in “Common Safety Instructions for
Fittings™.

B Applicable Tube and Related Products N
Polyurethane Tube-:------- P.596

Nylon Tube:-«---+---- P.608
Fluororesin Tube with clean-room package:-------- P.638
Polyurethane Tube with clean-room package:-:--:--- P.642

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSCO.CO.jp

D

1.33, Straight

-
I
3
097 5
. m H [ ! —m
— N Q
U,
<‘%@ < R é
Metric thread type PC4-M50 Unit : mm B3
)<>
P
PC4-M5®® M5 X 0.8 3(32) 20 |17(16.8) 10 19 63 |Pceuscs) [
PC4-M50@® M5 X 0.8 i 229 11990197 8 : 6.6 |PCL-MS0(KE)
PC4-M6@® 4 M6 X 1 4 - 14.9 0 6.2 6.4 | PC4-M6
PC4-01@® R1/8 8 21 5.3 83 PC4-01
PC4-02@® R1/4 11 15 14 53 16 PC4-02
PC6-M5@® M5 X 0.8/ 3(3.2) 221 [19.1018.9) 19 9.2 |PC6-MB(KD)
PC6-M6 @®) M6 X 1 4 23.1 19.1 12 6.2 94 | PC6-MB
PC6-01 @® 6 R1/8 8 226 18.6 17 93 | PC6-01
PC6-02@® R1/4 1 24.6 185 14 125 18 PC6-02 S
PC6-03@® R3/8 12 236 17.2 17 28 | Pco03 o
PC8-01 @® R1/8 8 279 | 239 » 5 | PCEOT E
PC8-02@® 8 R1/4 1" 26.6 20.6 18.2 20 PC8-02 -
PC8-03@® R3/8 12 23.9 17.6 17 24 PC8-03
PC10-01 @® R1/8 8 30.3 26.3 229 24  |PC10-01
PC10-02@® " R1/4 1 29.8 238 207 17 21 | PC10-02
PC10-03@® R3/8 12 29.3 23 ’ 35 27 |PC10-03
PC10-04®® R1/2 15 30.3 221 21 50 | PC10-04
PC12-02® R1/4 1" 35.9 29.9 35 44 | PC12-02
PC12-03@® 12 R3/8 12 31.9 25.6 23.3 21 5 36 |PC12-03 [k
PC12-04®® R1/2 15 33.9 257 50 |PC12-04 IR
PC16-03@® R3/8 12 39.3 33 83.3 58 |PC16-03 |
PC16-040® © R1/2 15 M3 331 248 24 114 66 |PCl6-0s |
PC5/32-M5@)® M5X 0.8 3(3.2) 20 [17(16.8) 10 1.9 6.3 |PC5R-MB(x5)
PC5/32-010®| 5/32 R1/8 8 o 17 14.9 53 83 | PC532-01
PC5/32-020® R1/4 11 15 14 : 16 |PC532-02
PC1/4-01@® R1/8 8 226 18.6 12 9.1 |PC1'4-01 =3
PC1/4-020®| 1/4 R1/4 11 246 185 17 14 125 18 [PC1'4-02 RS
PC1/4-03@0® R3/8 12 23.6 17.2 17 27 |PC1'4-03
PC5/16-010® R1/8 8 279 239 " . PC5'16-01
PC5/16-020®| 5/16 R1/4 1 26.6 20.6 182 20 PC5'16-02
PC5/16-03@® R3/8 12 23.9 17.6 17 24 |PC5'16-03
PC3/8-01@® R1/8 8 30.3 26.3 23 24 |PC38-01
PC3/8-02@0® . R1/4 11 29.8 23.8 . 17 21 |PC38-02
PC3/8-03@0® R3/8 12 29.3 23 ’ 35 27  |PC3'8-03
PC3/8-04@® R1/2 15 30.3 221 21 51  PC38-04
PC1/2-02@® R1/4 1 36.7 29.7 35 42 PC1'2-02
PC1/2-03@®| 1/2 R3/8 12 31.7 25.4 23.1 21 5o 35 |PC1'2-03
PC1/2-04@0® R1/2 15 337 255 49 |PC1'2-04
PC5/8-03@® o R3/8 12 39.3 33 P - 83.3 58 |PC5'8-03
PC5/8-04@® R1/2 15 413 33.1 ’ 114 66 |PC5'8-04

¥ 1.@ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. “L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.




I*‘F Fitting Series

. Tube Fitting

@™ Union Straight B

g

= X

T [FOMS compliant A@m D?

[aV)
i ::ﬁ iy
o
= Unit : mm
Tube O.D. Weight CAD

Model code oD (gg)’ file name
PU4®® 4 30.8 10 14.9 53 47 PU4
PU6 D® 6 34.9 125 17 125 6.5 PUB
PUSD® 8 37.8 145 18.1 20 9.4 PU8
PU10G®® 10 43.4 17.5 20.2 35 16 PU10
PU12@® 12 47.8 21 23.4 59 22 PUT2
PU16 @® 16 49.4 25 24.1 147.6 26 PU16
PU1/4@® 1/4 34.9 125 17 125 6.4 PU1'4
PU5/16 @® 5/16 37.8 145 18.1 20 9.4 PU5'16
PU3/8@® 3/8 43.4 175 20.2 35 16 PU3'8
PU12@® 1/2 48.4 21 23.7 69.6 21 PU1'2
PU5/8 @® 5/8 49.4 25 24.1 147.6 26 PU5'8

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

GlET_rl’ Unequal Union Straight

B
—_— ROHS compliant C1 c2 8‘
Standard s
Series E 5 I:;: = =< :tg
Q H- — Q
Unit ©: mm
Model code : cy
file name
PG6-4 @® 6 4 34.4 125 125 17 14.9 53 6.4 PG6-4
PG8-4@® . 4 36.6 " 10.7 o 14.9 4 7.2 PG8-4
PG8-6 ® 6 37.9 ’ 145 ’ 17 125 8.8 PG8-6
PG10-6 @D® 10 6 39.8 175 13 00 17 105 12 PG10-6
PG10-8@® 8 43.1 175 18.4 20 14 PG10-8
PG12-8@® 8 44 145 18.1 215 16 PG12-8
PG12-100® 12 10 21 23.4 PG12-10
PG12-3/8@® 3/8 476 2! 202 % 2 PG12-38
PG16-120® 16 12 495 25 25 24.1 23.4 88.6 27 | PG16-12
PG1/4-4@®| 1/4 4 34.4 125 125 17 14.9 53 63 | PG1'4-4
PG5/16-3/16® 3/16 383 17.4 5 88 | PG516-316
PG5/16-1/4@® 516 1/4 37.9 145 145 181 17 125 87  |PG516-1'4
PG3/8-516@0)| 3/8 5/16 431 17.5 17.5 20.2 18.4 20 15 PG38-5'16
PG1/2-1/4®® 1/4 44.4 145 17 115 15 |PG12-14
PG1/2-516@00)| 1/2 5/16 443 21 : 237 18.1 23 16.1  |PG12-56
PG1/2-3/80® 3/8 47.9 21 20.2 50.8 21 PG1'2-3'8
PG5/8-12@®| 5/8 1/2 49.8 25 25 24.1 23.7 90.6 26 |PG58-12

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.PiSCO.CO.jp

GEEIE, Inner Hex. Straight F% 2
=== 5
€ % | | Ol 1 (o]
- o L m =
‘;. ) L ] y E
< 1 - L — om o
N Lﬁﬁ :
SN Metric thread type <
- o P
8 &
7 Unit : mm
POC4-M5@® M5X0.8| 3(3.2) | 199 |169(167 2 2 5.6 | POCAIS()
POC4-M6@® | 4 M6 X 1 4 209 16.9 149 3 9.7 52 59 |POC4-M6
POC4-01 ®® R1/8 8 21 17 25 36 7.6 POC4-01
POC6-M5@® M5X0.8/ 3(32) | 23 20(19.8) 2 32 85  |POCE-5(5)
POC6-M6 @® . M6 X 1 4 225 185 . 3 1.8 7.4 6.9 |Poco-Me [
POC6-01 ®® R1/8 8 22.6 18.6 4 " 8.1 |POC6-01 gg
POC6-020® Ri/4 | 11 226 | 165 14 15 |Poce-02 B
POC8-01 ®® R1/8 8 279 239 5 137 17 14 pocs-01 [
POC8-02@®)| 8 R1/4 1 266 | 206 182 6 ’ 20 15 POC8-02
POC8-03@® R3/8 12 23.9 17.6 16.8 23 |POC8-03
POC10-01 @® R1/8 8 303 | 263 5 18.9 b3 |POCIO-O!
POC10-02@® o R1/4 11 298 | 238 | i 17.7 POC10-02
POC10-03@® R3/8 12 29.3 23 ’ 6 20 28  |POC10-03
POC10-04@® R1/2 15 303 | 221 208 49 | POC10-04
POC12-02@® R1/4 1" 359 | 299 6 25.5 40 POCT2-02 [y
POC12-03@® 12 R3/8 12 319 | 256 | 233 5 20.8 20 34 |POCI2-03 [
POC12-04@® R1/2 15 339 | 257 49 |POC12-04 [y
POC16-03@® - R3/8 12 39.3 33 o 10 5 75 64 |POCI6-03 (R
POC16-04@® R1/2 15 423 | 341 ’ 12 95 73 |POC16-04
POC1/4-01®® R1/8 8 18.6 1.8 8  |POCI4-01
POC1/4-02@® 1/4 R1/4 11 226 s 17 4 14 M 14 |POC1'4-02
POC5/16-01 D® R1/8 8 279 | 239 5 o0 17 14 |POC516-01 -
POC5/16-02@® | 5/16 | R1/4 1 266 | 206 182 6 : 20 156 POCE16-02 [
POC5/16-03@0 R3/8 12 23.9 17.6 16.8 23 |P0C5'16-03
POC3/8-02@® R1/4 11 29.8 238 199 23 |POC38-02
POC3/8-030® | 3/8 R3/8 12 293 23 20.7 6 ‘ 20 29 POC38-03
POC3/8-04 @® R1/2 15 303 | 221 20.8 49 |POC38-04

% 1. @ in Model code / Replaced with "W" for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. "L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Coupling

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I'“'; Fitting Series

. Tube Fitting

1@3' Female Straight

o
=
=
=
/
o d ,.5
Unit : mm
Model code
PCF4-01 ®® 4 Rc1/8 7 24.4 11 149 14 53 16 |PCF4-01
PCF4-02®® Rc1/4 95 27.4 12 ’ 17 6.1 24 |PCF4-02
PCF6-01 5 Rc1/8 7 26.5 i - 14 25 18 | PCF6-01
PCF6-02@® Rc1/4 95 29.5 17 ’ 25 |PCF6-02
PCF8-01 @® Rc1/8 7 28 145 14 20 | PCF8-01
PCF8-02@®| 8 Rc1/4 95 31 15 182 17 26 27 | PCF8-02
PCF8-03@® Rc3/8 105 32 155 21 37 |PCF8-03
PCF10-02@® Rc1/4 95 33.7 17 33  |PCF10-02
et 17.5 20.7 43
PCF10-03@® 0 Rc3/8 10.5 34.7 21 42 |PCF10-03
PCF12-02@® Rc1/4 95 35.8 40.7 57 | PCF12-02
T 12 20.8 233 2
PCF12-03®® Rc3/8 105 36.8 ! 71 51 |PCF12-03
- Rc1/8 7 24.4 11 e 14 53 16 |PCF532-01
PCF5/32-020®) Rci/4 95 27.4 12 ’ 17 6.1 24 |PCF532-02
PCF1/4-01®® " Rc1/8 7 26.5 13 . 14 125 18 |PCF1'4-01
PCF1/4-02@® Rc1/4 95 295 17 : 25 PCF1'4-02
PCF5/16-01 Rc1/8 7 28 145 14 20  |PCF5'16-01
s— PCF5/16-020®| 5/16 | Rcl/4 95 31 156 182 17 20 27 |PCF516-02
seis  PCF5/16-0300 Rc3/8 10.5 32 165 21 36  |PCF5'6-03
PCF3/8-02@® Rc1/4 95 33.7 17 33 |PCF38-02
e 175 20.7
PCF3/8-03@® 3/8 Rc3/8 105 34.7 21 a3 43 |PCF38-03

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSCO.CO.jp

Lzc]) Unequal Plug-in Straight
__pD1

ONILLIS

oD1
() oP (6] oP
m == m i
> E I
oD2 oD2
PGJ4-6, PGJ6-8
PGJ8-10, PGJ10-12

H371704LNOO

<
>
P
<
m

Unit © mm

PGJ4-6 ®® 6 4 38.8 19 125 17 4 35 PGJA-6
PGJ6-4 @D® 4 37.7 22.3 10 14.9 5 2.9 PGJ6-4
PGJ6-8@D® 8 6 432 225 145 18.1 95 53 PGJ6-8
PGJ8-4@® 4 40.2 14.9 45 38 PGJS-4 =

233 125 ==
PGJ8-6 @® 6 40.8 17 1.5 4 PGJs-6 [
PGJ8-10@® 10 8 46.5 235 17.5 20.2 215 8.7 PGJS-10 |5
PGJ8-1/4®® 1/4 40.8 233 12,5 17 145 4 pcls-14 [
PGJ10-4®® 4 422 . .. 14.9 45 43 PGJ10-4
PGJ10-6D® 6 43.8 ’ : 17 15 45 PGJ10-6
PGJ10-8®® 8 10 437 24.8 145 18.1 225 5.8 PGJ10-8
PGJ10-12@® 12 512 24 21 234 34 129 |PGJ10-12
PGJ10-1/4@®)| 1/4 438 283 125 17 14 45  |PGJ10-14
PGJ10-516@® |  5/16 437 242 145 18.1 225 58  |PGJ10-5'16
PGJ12-6D® 6 48.8 35 105 17 105 6 PGJ12-6
PGJ12-8@B®) 8 497 ‘ ' 18.1 23 67 | PGJI2-8 [k
PGJ12-10@® 10 i 50 28.8 17.5 20.2 315 96 |PGJI2-10 [
PGI12-14@0) | 1/4 488 335 s 17 14 59 |PeJ12-14 [
PGJ12-5/16@0) |  5/16 49.7 ’ : 18.1 23 6.7 |PGJ12-56
PGJ12-38@®)|  3/8 50 28.8 17.5 20.2 315 9.7  |PGJ12-3%8
PGJ16-10@® 10 . 55.2 - - 202 413 15 PGJ16-10
PGJ16-120®| 12 55.4 234 53 16 |PGJ16-12
PGJIA-532000)  5/32 1/4 37.7 223 10 14.9 5 3 |peJiss3 [
PGJ5/16-532000)  5/32 40.2 14.9 45 38  |PGJ5'16-532
PGJ5/16-1400)|  1/4 516 40.8 233 125 17 145 4 PGJ5'16-1'4
PGJ3B-1/4@0)  1/4 38 438 283 12,5 17 14 43 |PGJ38-1'4
PGJ3B-5/16@E  5/16 43.7 24.8 145 18.1 225 56 |PGJ38-516
PGJ1/2-1400)| 1/4 48.8 . 145 17 14 65 |PGJ12-14
PGJ1/2-5/16@0)  5/16 1/2 49.7 ’ ) 18.1 23 7.3 |PGJ12-516
PGJ1/2-38@0)| 3/8 50 28.8 17.5 20.2 315 1 PGJ1'2-3'8

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Coupling

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




= Fitting Series

59 Elbow —E
e ]

. Tube Fitting

O]

2

=

T [RoHS compliant (N

' a ‘ o %
— o T &H
| m -
R < % Metric thread type

Model code
PL4-M5@® M5X0.8/3(3.2]| 20.3 |223(22.1) 1.5 8 |PL4-M5(k6)
PL4-M6 @® 4 M6X1| 4 213 | 223 w0 | 149 | 18 10 83 |PL4-M6
PL4-01 ®® R1/8 8 233 | 243 ’ 42 11 | PL4-01
PL4-02@® R1/4 " 263 | 253 14 21 | PL4-02
PL6-M5@® M5X0.8/3 (3.2)| 22 253251 15 13 (PLOMECED)
PL6-M6 @® M6X1| 4 23 | 253 12 6.1 PL6-M6
PL6-01@® 6 R1/8 8 25 | 273 | 125 | 168 | 1938 14 | PL6-01
PL6-02@® R1/4 1 28 | 282 14 10 22 | PL6-02
PL6-03@® R3/8 12| 298 | 297 17 35 | PL6-03
PL8-01 @®* R1/8 8 28 | 313 " 19 | PL8-O1
PL8-02@®* 8 R1/4 1 31 322 | 145 | 181 | 227 165 | 24 | PL8-02
PL8-03@®* R3/8 12 328 | 337 17 37 | PL8-03
PL10-01 @® R1/8 8 33 | 37.8 224 | 31 |PL10-01
. PL10-02@®* 0 R1/4 1 36 | 387 105 | aue | g2 17 34 |PL10-02
Ll PL10-03D®* R3/8 12 37 | 394 30 43 |PL10-03
PL10-04@® R1/2 15 40 | 406 21 65 |PL10-04
ami  PL12-02@0® R1/4 | 11 38 | 425 30 51 |PL12-02
Sefes  pL12-03@®| 12 R3/8 12 39 | 432 | 21 234 | 294 | 21 " 52 | PL12-03
PL12-04@® R1/2 15 42 | 443 67 |PL12-04
PL16-03@® 16 R3/8 11 47 | 532 % | 2 | eed - 80.2 | 74 |PL16-03
PL16-04 @® R1/2 15 51 55.3 933 | 79 |PL16-04

% 1. @ in Model code / Replaced with "W” for Light-gray color

% 2. (® in Model code / Replaced with “C” for Clean-room package

% 3. “L" is a reference value for height dimension after tightening taper thread.

% 4. Space saving types are available for model codes with * mark. See page 760.
% 5. Dimensions in [ ] are for clean-room package products

% 6. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSCO.CO.jp

Elbow (Inch size) FLC, z
—— =
_ H @
I 3
SR
m T =]
| H 7
vl m| -
< R LL%@ Metric thread type s
Unit : mm [P
m
PL5/32-M5@® M5X0.8/3(3.2)| 20.3 |223[221) 10 15 8 |PLER-MHE)
PL5/32-01@®) | 5/32 R1/8 8 233 | 243 10 14.9 18 2 11 | PL5'32-01
PL5/32-02@® R1/4 11 263 | 253 14 ’ 21 | PL5'32-02
PL3/16-M5@)®) M5X0.8/3(32) 22 |[2531251) i 2.2 12 PL3IGB(#5)
PL3/16-01@® | 3/16 R1/8 8 25 273 | 125 | 172 | 202 05 14 |PL316-01
PL3/16-02@® R1/4 11 28 282 14 ’ 22 |PL316-02
PL1/4-M5@® M5X0.8/3(3.2)| 22 |2531251) 1 22 12 |PLILA(5) g%
' sS4
PL1/4-01 ®® 1/ R1/8 8 25 | 273 125 | 168 | 198 14 PL1‘4—O1 g8
PL1/4-02@® R1/4 11 28 282 14 10 22 PL1'4-02 B
PL1/4-03@® R3/8 12 | 298 | 29.7 17 35 PL1'4-03 [
PL5/16-01 ®©® R1/8 8 28 | 313 00 19 |PL5'16-01
PL5/16-02@® 5/16 | R1/4 11 31 322 | 145 | 181 | 227 165 | 24 |PL5'16-02
PL5/16-03@®) R3/8 12 | 328 | 337 17 37 |PL5'16-03
PL3/8-01 ®® R1/8 8 33 | 378 22.4 | 31 |PL38-01
PL3/8-02D® R1/4 11 36 38.7 17 34 |PL38-02
PL3/8-03@® 8 R3/8 12 37 | 394 178 | 202 | 262 30 43 |PL3'8-03
PL3/8-04@® R1/2 | 15 40 | 406 21 65 PL38-04 [hmmm
PL1/2-02@® R1/4 11 38 425 30 50 |PL12-02 [k
PL1/2-03@®| 1/2 R3/8 12 39 432 21 23.7 | 29.7 21 51 |PL1'2-03 |
47 RS
PL1/2-04@® R1/2 15 42 | 443 67 |PL1'2-04
PL5/8-03@® R3/8 11 47 532 80.2 74 |PL5'8-03
PL5/8-04@® 58 R1/2 15 51 55.3 » 24.1 ) 334 22 93.3 79 | PL5'8-04
% 1.@ in Model code / Replaced with “W" for Light-gray color
%2.® in Model code / Replaced with “C” for Clean-room package PP
% 3. “L" is a reference value for height dimension after tightening taper thread. Series

% 4. Dimensions in [ ] are for clean-room package products
% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I"'F Fitting Series

. Tube Fitting

@278 Union Elbow 2E

ROHS compliant f WL

N - N
2P| | | | T
1

2-gD

FITTING

Unit : mm
Model code Effective area
(mm?)

PV4@® 4 10 14.9 16.9 32 6.5 10 42 5.1 PV4
PV6@D® 6 125 16.9 20.1 32 8 125 10 7.3 PV6
PV8@® 8 15 18.1 224 42 10 15.6 16.5 " PV8
PV10@® 10 17.5 20.7 26.2 42 12 182 30 17 PV10
PV12@® 12 21 23.4 29.4 42 14 21.7 47 25 PV12
PV16 @® 16 25 24.1 33.1 42 12 25.6 916 31 PV16
PV1/4@® 1/4 125 16.9 20.1 32 8 125 10 7.1 PV1'4
PV5/16@® | 5/16 15 18.1 22.4 4.2 10 16.6 16.5 11 PV5'16
PV3/8 ®® 3/8 175 20.7 26.2 42 12 182 30 18 PV3'8

% 1.@ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

1 /=) Plug-in Elbow £

ROHS compliant f — ]
— 1 o
Standrd NIL - :F Q
3
Q

© \

Unit : mm
Model code : cy

file name
PLJ4A@® 4 4 25 185 10 14.9 16.8 3 2.7 PLJ4
PLJ6 @® 6 6 285 21 125 17 19.8 8 39 PLJ6
PLJIB@® 8 8 30.7 22 145 18.1 21.8 17 5.7 PLJ8
PLJ10@® 10 10 33.7 235 175 20.2 24.9 25.5 96 PLJ10
PLJ12G@® 12 12 39 265 21 23.4 28.9 36 15 PLJ12
PLJ16@D® 16 16 45 31 25 24.1 38.1 81 23 PLJ16
PLJ5/32@®| 5/32 | 5/32 25 185 10 14.9 16.8 3 2.7 | PLJ532
PLJ1/4@®® @ 1/4 1/4 285 21 125 17 19.8 8 4 PLJ1'4
PLJ5/16@®| 5/16 | 5/16 30.7 22 145 18.1 218 17 57 | PLJ56
PLJ3/8@® | 3/8 3/8 33.7 235 175 20.2 24.9 25.5 95 PLJ38
PLJ12@® | 1/2 1/2 39 265 21 23.7 29.2 36 15 PLJ1'2

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

(X=X}, Unequal Plug-in Elbow M e

===t

RoHS compliant 7@ !E :‘Y%

= _

| 3

o Q

- |
oD2 Unit © mm
PLGJ6-4@®| 4 6 285 21 12,5 14.9 17.7 45 36 | PLGJ6-4
PLGJ8-4@®| 4 14.9 21.3 5 5 PLGJ8-4
30.7 22 14.
PLGJ8-6@D®| 6 8 45 17 21.9 95 52 |PLGJ8-6
PLGJ10-6@®| 6 17 24.7 95 75 |PLGJ10-6
1 33.7 235 175
PLGJ10-8@®| 8 0 18.1 24.6 185 8 PLGJ10-8
PLGJ12-8@®)| 8 - - 55 - 18.1 28.4 19 13 |PLGJ12-8
PLGJ12-100®| 10 20.2 28.7 29 14 |PLGJ12-10
PLGJ16-120®) 12 16 45 31 25 23.4 38.2 54 26 |PLGJ16-12
PLGJ1/4-53200)| 5/32 14.9 17.7 45 37  |PLGJI4-53
PLGJ1/4-311600)| 3/16 1/4 285 21 125 17.4 20.2 45 42  |PLGJI4-316
PLGJ1/4-6@®| 6 17 19.8 8 4 PLGJ1'4-6
PLGJSA6-31600) | 3/16 17.4 223 5 53  PLGJ516-316
= 1 30.7 22 145 g
PLGJ5/16-1400)  1/4 516 17 21.9 95 5.1 |PLGJ516-14
PLGJ3B-1/4@E) 1/4 17 247 95 7.3  |PLGJ3B-14
33.7 235 17.5

PLGJ38-516D®) | 5/16 358 18.1 246 18.5 78  |PLGJ3B516
PLGJ12-516D® | 5/16 18.1 28.4 19 13 |PLBJI2-516
PLGJ1/2-38@6)  3/8 1/2 39 265 21 20.2 28.7 29 15 |PLGJ1?2-38
PLGJ1/2-120® 12 234 289 36 15 |PLGJI2-12

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

‘, Long Plug-in Elbow

om

‘\
|
TN
oP

RoHS compliant _
i
| ¢
Q
N 11
ob2 Unit : mm
PLLJ4@® 4 4 36 295 10 14.9 16.8 3 2.8 PLLJ4
PLLJ6 @® 6 6 42 345 125 17 19.8 75 42 PLLJ6
PLLJB@® 8 8 46.7 38 145 18.1 21.8 16 6.2 PLLJS
PLLJ10@® | 10 10 51.7 415 175 20.2 24.9 25 1 PLLJ10
PLLU12@D® | 12 12 59.5 47 21 23.4 28.9 355 16 PLLJ12
PLLJ5/32@®)| 5/32 | 5/32 36 295 10 149 16.8 3 28 |PLLJ5'32
PLLJ1/4@®| 1/4 1/4 42 345 125 17 19.8 75 43 PLLJ1'4
PLLJ5/16@® | 5/16 5/16 46.7 38 145 18.1 21.8 16 6.2 |PLLJ5'16
PLLJ3/8@®| 3/8 3/8 51.7 415 17.5 20.2 24.9 25 1" PLLJ3'8
PLLJ1/2@®| 1/2 1/2 59.5 47 21 23.7 29.2 3565 17 PLLJ1'2

% 1. @ in Model code / Replaced with “W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.

H3770HINOO  ONILLIS

IATVA

=X
3™
o
20
SO
35
Z=]
m
5

Standard
Series

Mini
Series

PP
Series




I"F Fitting Series

. Tube Fitting
[I¥:N)) Unequal Plug-in Long Elbow

FITTING

Standard
Series

RoHS compliant

Tube O.D.| Tube dia.

Model code

E

-~

gu &1

oP

a
Q

Unit : mm

CAD
file name

PLLGJ6-4@®| 4 6 42 345 125 14.9 17.7 4 39 |PLLGJG-4
% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
(X)) 45° Plug-in Elbow o T o
> o
ROHS compliant
90,
$ 7
rt <
m| oy
4

Tube O.D.| Tube dia.

Model code

PLHJ8 @®® 8 8 375 | 145 | 145 | 181 | 56.9 | 232 | 20.7 | 194 | 20 7.8 | PLHJ8
PLHJ10®®| 10 10 422 | 175 | 1756 | 202 | 65 25 24 | 228 | 28 13 | PLHJ10
PLHJ12@® 12 12 495 | 21 21 234 1 771 | 285 | 294 | 276 | 39 20 | PLHJ12
PLHJ16@®| 16 16 565 | 25 25 | 241 | 85 | 31 | 298| 29 93 32 |PLHJ16

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.PiSCO.CO.jp

( ) Long Elbow E

-
(o ] E
: I | ,%\ §
L[S = 3
o [
[
‘ ~_H -
I o N -
< R < 5 "
Metric thread type Unit : mm
PLL4-M5@® M5X0.83 (3.2) 32.3 [343(341) 0 15 8.4 |PLLE-ME(x5)
PLLA-01D® | 4 R1/8 8 353 | 363 | 10 | 149 | 18 42 17 |PLL4-01
PLL4-02@®® R1/4 11 383 | 37.3 14 42 34 | PLL4-02
PLL6-01 ®® R1/8 8 38 | 403 12 10 26 |PLL6-0T |
PLL6-02@® | 6 R1/4 11 41 412 | 125 | 168 | 198 14 39 |PLL6-02 g%
PLL6-03@® R3/8 12 | 433 | 432 17 95 62 |PLL6-03 |55
PLL8-01 @® R1/8 | 8 | 435 | 468 4 165 |37 |PLLBDI »g
PLL8-02@®| 8 R1/4 " 465 | 477 | 145 | 181 | 227 : 43 |PLL8-02
PLL8-03@® R3/8 12 483 | 492 17 178 | 66 |PLL8-03
PLL10-02@® R1/4 11 545 | 57.2 1" - 65 |PLL10-02
PLL10-03@®| 10 R3/8 12 | 855 | 57.9 | 175 | 202 | 262 74 |PLL10-03
PLL10-04@® R1/2 15 60 60.6 21 321 | 121 |PLL10-04
PLL12-02@® R1/4 " 60 | 645 39.1 | 112 |PLL12-02
PLL12-03@®| 12 R3/8 12 61 652 | 21 234 | 294 | 21 44 107 |PLL12-03
PLL12-04@® R1/2 15 64 66.3 642 | 123 |PLL12-04 (R
PLL5/32-01 ®®) R1/8 8 353 | 363 10 17 |PLL532-01
PL520200| o2 | Ria | 11 | 383 a7s | 0 | M9 18 T %2 T [pusne i
PLL3/16-01 ©® R1/8 8 38 40.3 12 26 |PLL316-01
PLL3/16-020® 316 R1/4 " 41 mp | 125 12202 52 39 |PLL316-02
PLL1/4-01 ®® R1/8 8 38 | 403 12 10 26 |PLL14-01
PLL1/4-02@® 1/4 R1/4 11 41 412 | 125 | 168 | 198 14 39 |PLL14-02
PLL1/4-03@® R3/8 12 | 433 | 432 17 95 61 |PLL14-03 o
PLL5/16-01 ©® R1/8 8 435 | 468 14 | 165 37 |PLLE16-01 i
PLL5/16-020®) | 5/16 R1/4 11 465 | 477 | 145 | 181 | 227 ) 43 |PLL516-02
PLL5/16-03@® R3/8 12 | 483 | 492 17 | 178 | 66 |PLL516-03
PLL3/8-02@® R1/4 1 545 | 57.2 - - 65 |PLL38-02
PLL3/8-03@® | 3/8 R3/8 12 | 555 | 579 | 175 | 202 | 262 74 |PLL38-03
PLL3/8-04®® R1/2 15 60 | 60.5 21 32.1 | 120 |PLL38-04
PLL1/2-02@® R1/4 " 60 | 645 39.1 | 111 |PLL12-02
PLL1/2-03@® | 1/2 R3/8 12 61 652 | 21 237 | 297 | 21 44 107 |PLL1'2-03
PLL1/2-04@® R1/2 15 64 | 66.3 542 | 122 |PLL12-04

% 1.@ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. “L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Coupling

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I'“F Fitting Series

. Tube Fitting

‘E!:]' 45° Elbow

RoHS compliant

FITTING

Unit © mm

Model code

PLH8-01 @® R1/8 8 27 | 424 " 22 18 PLH8-01
PLH8-02®®| 8 R1/4 | 11 30 | 434 207 | 194 | 145 | 181 26 | 24 |PLH8-02
PLH8-03®® R3/8 | 12 | 318 448 17 | 22 | 37 |PLH8-03
PLH10-01 ®® R1/8 8 | 312 50 233 | 31 |PLH10-01
PLH10-02@® R1/4 | 11 | 342 | 51 17 | 38 | 34 |PLH10-02
—— == 24 | 228 | 175 | 202

PLH10-03@® 10 R3/8 | 12 | 352 516 405 | 42 |PLH10-03
PLH10-04@® R1/2 | 156 | 382 | 5238 21 | 316 | 64 |PLH10-04
PLH12-02®® R1/4 | 11 38 | 59.6 45 | 51 |PLH12-02
PLH12-03@®| 12 R3/8 | 12 | 39 | 602 294|276 | 21 | 234 | 21 g |00 [PLHI2-03
PLH12-04@®® Ri/2 | 16 | 42 | 614 80 |PLH12-04
PLH16-03@® R3/8 | 11 43 | 65.6 78 | 73 | PLH16-03
—— == 208 | 29 | 25 | 241 | 22

PLH16-04 ®® 16 R1/2 | 156 | 47 | 67.8 90 | 78 |PLH16-04

% 3. "L" is a reference value for height dimension after tightening taper thread.

) Hex. Holed Banjo i} = oF;

RoHS compliant ¢

) T
i
ﬂ o T 70
' = o -
<7\%

Metric thread type Unit : mm

% 1. @ in Model code / Replaced with "W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

I
Standard
Series

Hex. |Hfectieaea| Weight

Model code

POL4-M5@®| 4 |M5X0.8/3(32]| 17.5 1L5(1L3)75(73], 10 | 10 | 149 198 4 | 21 | 63 |[POLNG(S)
POL6-01 @® R1/8 8 |24 | 20 | 115 7 15 |POL6-01
e 13 | 143 | 17 | 237 | 5

POL6-02@® 6 R1/4 | 11 | 27 | 21 | 125 74 | 22 |POL6-02
POL8-01 ®® Ri/8 | 8 | 27 | 23 | 12 14 | 22 |POL8-01
POL8-02@®| 8 R1/4 | 11 | 30 | 24 | 13 | 14 [ 179 181 267 8 | 124 28 |POL8-02
POL8-03®® R3/8 | 12 | 31 247 137 136 | 37 |POL8-03
POL10-02@® R1/4 | 11 | 34 | 28 | 15 229 | 40 [POL10-02
— = 18 | 213 | 20. 701

POL10-03@® 10 R3/8 | 12 | 35 | 287|157 8 |213)207 30 0 226 | 49 |POL10-03
POL12-03@® R3/8 | 12 | 39 327 17.7 373 68 |POL12-03
e 21 | 263 234 364 12

POL12-04®® 12 Ri/2 | 16 | 42 338188 32.4 | 85 |POL12-04

% 1. @ in Model code / Replaced with "W" for Light-gray color

% 2.® in Model code / Replaced with “C” for Clean-room package

% 83.°L1" and “L2" are reference values for height dimensions after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSCO.CO.jp

PMIF i oP.
[L%[3) Bulkhead Female Straight o

ONILLIS

P
<~ N 3 = i
' = 2
I -
: ‘Li d u ®
Re Unit : mm S
<
lul
PMF4-01®®| 4 | Rcl/8 [M2x1/245| 99 | 10 | 7 149 14 14 4 58 19 |PMF4-01
PMF-01®® | Rol/8 A ol 10| 7 | I I | 138 sg PMFE01
PMF6-02@® Rc1/4 | 30.1 13 | 95 | | 122 PMF6-02
PMF8-01 ©® Rc1/8 29 10 | 7 225 | 39 |PMF8-01
PMF8-02@®| 8 | Rcl/4 |M6x1| 32 |135| 13 | 96 | 182 19 19 = 4 234 41 |PMF8-02
PMF8-03@® Rc3/8 33 14 1105 223 | 35 |PMF8-03
PMF10-02@® Rc1/4 | 348 14 | 95 | | 411 78 [PvF10-02 [
M0 1 14.9 207| 24 | 24 | 5 £
PMF100300 '° | Rc3s | 35.8 15 | 105 | 40 | 73 |purio03 R
PMF12-03@® Rc3/8 389 15 | 10.5 703 | 86 |PMF12-03 [
M22x 1 184 233 27 24 6 a3
PMFI204@0 2 | Rel2 41.9 18 | 13 701 | 80 |PMF12-04 |

% 1.@ in Model code / Replaced with "W for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

(1Y) Bulkhead Union B

F—T—’A E % Standard
— : N Series
\'ﬁ i il o ’ﬂ% Seres
= =
2G| 7 ac
M 2-H Unit : mm
PP
Series
PM4@® 4 M12 X 30.8 10.4 15 10.8 14.9 14 5.3 "1 PM4
PM6 @® 6 M14 X 34.9 " 18 12.5 17 17 12.5 16 PM6
PM8 @® 8 M16 X 37.4 14.3 16.8 14.6 18.2 19 20 20 PM8

PM10@® 10 |M20x1| 424 | 127 | 23 185 | 207 | 24
PM12@® 12 |M22x1| 476 | 123 29 204 | 233 27

1

1

1

1 35 39 PM10
1

PM16@® 16 M28x15| 51 5.4 40.2 - 24.8 32

1

1

1

1

71 57 PM12
98 80 PM16
4.2 16 | PM3'16
12.5 16 PM1'4
20 20 | PM5'16
35 39 PM3'8

PM3/16@® | 3/16 M14x1| 357 | 114 | 18 | 125 | 174 | 17
PM1/4@® | 1/4 M14x1| 349 | 11 18 | 125 | 17 17
PM5/16@® | 5/16 M16X 1| 37.4 14.3 16.8 14.6 18.2 19
PM3/8@® | 3/8 |M20x1| 424 | 127 | 23 | 185 @ 207 @ 24
% 1. @ in Model code / Replaced with “W" for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

bl OO B D

Coupling

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I’J'; Fitting Series

. Tube Fitting

1@ Branch Tee

g
=
= 2E
I n—
M s 4
AN m | N o
. ‘ H o .,
a4
Metric thread type @16mm type
Unit : mm
Model code
PB4-M5@® M5X0.8/3 (3.2)| 20.2 |222(221) 15 pq  [PBEMEHD)
PB4-M6 @® 4 M6X1| 4 212 | 222 w0 | 149 | 169 10 PB4-M6
PB4-01 ®® R1/8 8 232 | 242 ’ ’ 4.1 14 | PB4-01
PB4-02@® R1/4 1" 262 | 252 14 23 | PB4-02
PB6-M5@® M5X0.8/3 (3.2)| 23 265263 15 . PB6-M5(6)
PB6-M6@® M6X1| 4 24 | 265 12 6.8 PB6-M6
PB6-01D® | 6 R1/8 8 26 | 285 | 13 17 | 20.15 18 | PB6-01
PB6-02@® R1/4 1 29 | 295 14 10 26 | PB6-02
PB6-03@® R3/8 12 | 308 | 31 17 39 | PB6-03
PB8-01 ®®* R1/8 8 263 | 298 " 23 | PB8-01
PB8-02@®* 8 R1/4 " 293 | 308 | 15 | 184 | 224 165 | 29 | PB8-02
PB8-03@®* R3/8 12 | 311 | 323 17 42 | PB8-03
PB10-01 R1/8 8 33 | 37.8 232 | 38 |PB10-01
e PB10-020®)* R1/4 1 36 | 387 17 42 |PB10-02
S ppi00s@®¢  ° | Ras | 12 | 37 | a4 | 0| 202|282 30 | 50 |PB10-03
PB10-04@® R1/2 15 40 | 406 21 72 |PB10-04
PB12-02@® R1/4 1" 38 | 425 30 61 |PB12-02
PB12-03@® 12 R3/8 12 39 | 432 | 21 229 | 284 | 21 2 62 | PB12-03
PB12-04@® R1/2 15 42 | 443 78 |PB12-04
PB16-03@® R3/8 1" 47 | 532 80.1 89 |PB16-03
PB16-04®® 16 R1/2 15 51 56.3 2% | 241 ssd 2 90.8 | 93 |PB16-04

% 1. @ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. °L" is a reference value for height dimension after tightening taper thread.

% 4. Space saving types are available for model codes with * mark. See page 760.
% 5. Dimensions in [ ] are for clean-room package products

% 6. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSCO.CO.jp

Brach Tee (Inch size)

ONILLIS

H371704LNOO

IATVA

Unit © mm
PB5/32-01 ®® R1/8 8 192 | 242 10 14 |PB5'32-01
PB5/32-02@® 582 R1/4 1" 262 | 52 | 0| 149 189 & 23 |PB532-02
PB3/16-01 @® R1/8 8 26 | 285 12 18  |PB3'16-01
PB3/16-02D® 316 R1/4 1 29 | 295 13 | 174 12055 14 o4 25 Pe316-02 [
PB1/4-01 ®® R1/8 8 26 | 285 12 18 | PB1'4-01 gi
PB1/4-02@®| 1/4 R1/4 " 29 | 295 | 13 17 | 2015 14 10 26 |PBI4-02 [
PB1/4-03@® R3/8 12| 308 | 31 17 39 |PB14-03 [
PB5/16-01 @® R1/8 8 26.3 | 298 " 23 |PB5'16-01
PB5/16-02@®| 5/16 | R1/4 1" 293 | 308 | 15 | 184 | 224 165 | 29 |PB516-02
PB5/16-03@® R3/8 12 | 311 | 323 17 42 | PB516-03
PB3/8-01 ®® R1/8 8 33 | 378 232 | 39 |PB38-01
PB3/8-02@® R1/4 11 36 38.7 17 42 | PB3'8-02
PB3/8-03@® 8 R3/8 12 37 | 394 175 | 202 | 262 30 50 |PB38-03
PB3/8-04@® R1/2 15 40 | 406 21 72 |PB38-04
PB1/2-02@® Ri/4 | 11 38 | 425 30 | 59 |PBi2-02 (R
PB1/2-03@®| 1/2 R3/8 12 39 | 432 | 21 232 | 287 | 21 . 60 |PB12-03 [
PB1/2-04@® R1/2 15 42 443 76 |PB12-04 [EELES

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 8. "L" is a reference value for height dimension after tightening taper thread.

PP
Series

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




IJ"" Fitting Series

. Tube Fitting

1.33]’ Run Tee

g
= E
= == 1z 2:25.6
o ; (N % = al a =
& L) e Q[ E h ‘ i [
y | T — 1 3 N v‘* N i .
- = o ,jv
i :.J o o ‘ I 4
3 | ., ﬁ 2-04.2 \
o mﬁﬁ f H +
< R R <l R )
Metric thread type @16mm type Unit : mm
Model code .CAD
file name
PD4-M5@® M5X0.8/3 (3.2)| 37.1 |3L1(339)172(17) (EH IR CCTECD
PD4-M6 @® 4 M6X1| 4 | 381 341|172 10 | 149 | 169 10 PD4-M6
PD4-01 @® R1/8 8 | 401 | 361 | 192 ’ ’ 53 | 14 | PD4-O1
PD4-02@® Ri/4 | 11 | 431|371 | 202 14 23 | PD4-02
PD6-M5@® M5X0.8/3 [3.2]| 43.2 402 (40)20(198) 19 | 16 |PD6-M5
PD6-M6 @® MeX1| 4 | 442 | 402 | 20 12 | 64 17 |PD6-M6
PD6-01@® | 6 R1/8 8 | 462 | 422 | 22 | 13 | 17 | 201 18 | PD6-01
PD6-02@® R1/4 | 11 | 492 | 431 | 23 14 | 125 | 26 |PD6-02
PD6-03@® R3/8 | 12 | 51 | 446 | 245 17 39 | PD6-03
PD8-01 @®* R1/8 8 | 504 | 464 | 242 1 23 | PD8-01
PD8-02®* 8 R1/4 | 11 | 834 474 | 252 | 15 | 181 | 222 20 | 29 |PD8-02
PD8-03®®* R3/8 | 12 | 552 | 489 267 17 42 | PD8-03
PD10-01 @® R1/8 8 | 582 | 542 | 29 236 | 38 |PD10-01
——  PD10-02@®* R1/4 | 11 | 612|552 | 30 17 42 |PD10-02
S on100s@® . C | Ras | 12 | 622 | 559 | 307 | 0 202 202 35 | 50 |PD10-03
PD10-04 ®® R1/2 | 15 | 652 | 57 | 318 21 72 |PD10-04
PD12-02@® R1/4 | 11 | 666 | 60.6 | 32.2 3 | 62 |PD12-02
PD12-03®® 12 R3/8 | 12 | 676 613|329 21 | 229 282 | 21 50 | 78 PD12-03
PD12-04@® R1/2 | 15 | 706 624 | 34 PD12-04
PD16-03@® R3/8 | 11 | 80.1 | 738 | 407 795 | 89 |PD16-03
PD16-04 ®® 16 R1/2 | 15 | 841 | 759 | 428 25 | 241881 22 928 | 93 |PD16-04

% 1. @ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. °L1" and “L2" are reference values for height dimensions after tightening taper thread.
% 4. Space saving types are available for model codes with * mark. See page 760.

% 5. Dimensions in [ ] are for clean-room package products

% 6. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSCO.CO.jp

Run Tee (Inch size) _ 2
=== o |, 5
(@] Pt [S] [S] o)
I\ NN IR =l
] T—3 %'
o5 GF-¢ 5
S
Tl 5
I =
v G R
Unit © mm
PD5/32-01 @®) R1/8 8 | 401 | 36.1 | 192 10 14 | PD532-01
PD5/32-02@® 582 R1/4 | 11 | 431 | 37.1 | 202 1001149 1169 01 53 55 posoe
PD3/16-01 @® o R1/8 8 | 466 | 426 | 22 @ | 194 | s 12 " 18 Poavwsfow
PD3/16-02@® Ri/4 | 11 | 496 | 435 23 14 26 |P03ie-02 |
PD1/4-01 ®® R1/8 8 | 462 | 422 | 22 12 18 |PD1'4-01 gi
PD1/4-02@®| 1/4 R1/4 | 11 | 492 | 431 23 | 13 | 17 201 | 14 125 | 26 PoI4-02 (o2
PD1/4-03@® R3/8 12 51 | 446 | 245 17 39 |PD14-03 [
PD5/16-01 @©® R1/8 8 | 504 | 464 | 242 10 23 |PD5'16-01
PD5/16-02@® 5/16 | Ri/4 | 11 | 534 | 47.4 252 | 15 | 181 | 222 20 | 29 |PD516-02
PD5/16-03@® R3/8 | 12 | 552 | 489 | 267 17 42 |PD5'16-03
PD3/8-01 ®® R1/8 8 | 582|542 | 29 236 | 39 PD38-01
PD3/8-02@® R1/4 11 | 612|552 | 30 17 42 PD38-02
PD3/8-03@® 8 R3/8 | 12 | 622 | 559 | 307 175 | 202 ) 252 3 | 50 |PD38-03
PD3/8-04@® R1/2 | 156 | 652 | 57 | 318 21 72 |PD38-04
PD1/2-02@® R1/4 | 11 | 669 | 609 | 322 35 | 59 |PD12-02 [
PD1/2-03@®| 1/2 R3/8 | 12 | 679 | 616 329 | 21 | 232 285 | 21 o | 60 [PD12-03 o
PD1/2-04@® R1/2 | 16 | 709 | 627 | 34 | 76 |PD12-04 [EEE

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. “L1" and "L2" are reference values for height dimensions after tightening taper thread.

PP
Series

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I'“'; Fitting Series

. Tube Fitting

1.33, Union Tee —

e
m

n
m
@
O
3-0D

FITTING

Unit : mm

Model code

PE4@® 4 10 | 149 | 169 | 32 10 6.5 13 169 | 53 75 PE4
PE6@D® 6 13 17 | 2005 | 32 | 135 8 16 | 201 | 125 1 PE6
PES@® 8 15 | 181 | 222 | 32 15 9 18 | 222 | 20 16 PES
PE10@® 10 175 | 196 | 2562 | 42 17.5 12 24 252 35 25 PE10
PE12@® 12 21 229 | 284 | 42 | 217 14 28 | 282 | 59 36 PE12
PE16 @® 16 25 | 241 | 331 | 42 | 256 | 12 24 | 331 | 898 | 44 PE16
PE1/4@® 1/4 13 17 12005 32 | 135 8 16 | 201 | 125 " PE1'4
PE5/16@® | 5/16 15 | 181 | 222 | 32 15 9 18 | 222 | 20 16 | PE5'16
PE3/8 @® 3/8 175 | 202 | 252 | 42 | 175 12 24 | 252 | 35 25 PE3'8

%1.@ in Model code / Replaced with "W" for Light-gray color
% 2. in Model code / Replaced with “C” for Clean-room package

GEEE’ Unequal Union Tee

I
Standard
Series

PEG4-6@®| 4 6 13 1 13 [149] 17 [195|32 | 8 | 16 |20 135 41 | 11  PEG4-6
PEG6-4 @®® . 4 13 | 13 | 17 | 1492005 - 8 | 16 1195]135] 4.1 | 11 |PEG6E-4
PEG6-8 @® 8 15 | 15 182181 (2225 9 | 18 |222| 15 | 105 14 |PEG6-8
PEG8-4@® 4 149 21.7 4 PEGS-4
= 45/ 12. 222 32 1 . 1
PEG8-6@® 8 6 145125 18.1] 17 3 9 8 223 1o 95 4 PEG8-6
PEG8-10D® 10 175175 202|249 42 | 12 | 24 |252/175|21.3 22 |PEG8-10
PEG10-6®D® 6 17 25 105 | 22 |PEG10-6
— } : 252 2| 2 2

PEG10-8@® 10 8 175145 202 181 ° 42 ! 4 24.9 18 185 | 23 |PEG10-8
PEG10-120®) 12 21 | 21 229|282 14 | 28 | 282|217 |31.2| 34 |PEGI0-12
PEG12-8®® 8 18.1 277 205 32 |PEG12-8
R aas 2 . 28. 2 21.

PEG12-100® 12 10 t[175 234202 84 42 1428 28 17 295 34 |PEG12-10
PEG12-160®) 16 25 | 25 241332 12 | 24 331|256 462 46 PEGI2-16
PEG16-120® 16 12 25 | 25 (241 (229|331 |42 | 12 | 24 |332|256| 45 | 45 |PEGI6-12
PEG5/32-3/160)®) 3/16 17.4 20.5 35 | 11 |PEGE32-316
] ) 13 | 13 | 149 195132 8 | 16 135

PEGS/32-1/4®®) 5/3 1/4 17 20.1 43 | 10 PEGH32-14
PEG3/16-1/40®)| 3/16 1/4 | 13 | 13 [17.4| 17 2045 32 | 8 | 16 [20.1|135| 42 | 12 |PEG316-14
PEG1/4-5/160®)| 1/4 5/16 | 15 | 15 1182 18.1 /22256 32 | 9 | 18 (222| 15 /107 14 |PEGI4516
PEG5/16-5/320)®) 5/32 14.9 217 35 | 16 |PEGHI6-532
. 145|125 18.1 222132 9 | 18 15.1

PEG5/16-3/16@0®) 5/16 | 3/16 17.4 227 52 | 14 PEGS16-316
PEGS5/16-380® 3/8 175|175 /181|202 249 | 42 | 12 | 24 | 252|175 |20.1 | 22 |PEG516-38
PEG3/8-1200)| 3/8 1/2 | 21 | 21 202|237|282| 42 | 14 | 28 |285| 21 |27.1| 34 |PEG38-12
PEG1/2-5/16@0®)| 1/2 5/16 | 21 175237181 (287 42 | 14 | 28 |27.7|21.7| 22 |29.4 |PEG12-516

% 1.@ in Model code / Replaced with "W” for Light-gray color
% 2. 6 in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

J
@, Branch Y Qﬂ’ﬁ?ﬁﬁ

ROHS compliant w

ul
=1
=
=
[0}

7 ‘ =
" m|— ) T %
< m& o
<A%& Metric thread type ~ Unit : mm I
=
PX4-M5@® M5x0.8/3(32) 37.6 %34 15 PREES)
PX4-M6 ®® 4 (MBX1] 4 386346 1 o 54 4 g0 | 10133 PX4-M6
PX4-01 ®® R1/8 | 8 406 366 42 | 14 | PX4-01
PX4-02@® R1/4 | 11 436 376 14 | 42 | 23 | PX4-02
PX6-M5®® M5 X 0.8(3(32)| 41.4 |34(32) \ 15 | 16 |PX6-M5(x5)
PX6-M6 @® M6X1| 4 |424 384 \ 12 | 65 | 17 |PX6-M6
PX6-010® | 6 R1/8 | 8 |444/404|125| 17 | 12 | 34 |168|125 18 | PX6-01 B
PX6-02@® Ri/4 | 11 474|413 \ 14 | 10 | 26  PX6-02 P
PX6-03@® R3/8 | 12 1492 428 \ 17 40 | PX6-03 §§
PX8-01 ®® R1/8 | 8 487 447 " | 24 | Pxs-01 |
PX8-02@® 8 R1/4 | 11 517457145181 | 14 | 34 (172145 165 29 | PX8-02
PX8-03@® R3/8 | 12 535|472 17 43 | PX8-03
PX10-01 @® R1/8 | 8 [553|513 \ 22.1| 40 |PX10-01
PX10-02@® R1/4 | 11 583|523 17 | 30 | 44 |PX10-02
PX10-03@® 10 R3/8 | 12 /593 53 18 1207 18 | 45 195 18 30 | 52 |PX10-03
PX10-04@® R1/2 | 15 |62.3 | 54.1 \ 21 | 30 | 74 |PX10-04
PX12-02D® R1/4 | 11 635|575 64 |PX12-02
PX12-030® | 12 R3/8 | 12 645 582| 21 |234| 20 | 42 222| 21 | 21 | 37 65 PX12-03 [E=mm
PX12-04@® R1/2 | 15 | 675|593 81 |Px12-04 [k
PX16-03@® R3/8 | 11 | 76.169.8 545 89 Px16-03 (VR
PX16-04 ®® 16 R1/2 | 15 [80.1|719 25 (241 24 | 451221125 | 22 Moo s Ipxi6-0 i
PX5/32-01 D® R1/8 | 8 406|366 10 14 | PX5'32-01
PX5/32-02@®) 582 R1/4 | 11 436 376 101149141 134 1141110 0 42 s oxao0e
PX3/16-01 @® R1/8 | 8 448 408 12 18 |PX316-01
PX3/16-02@® 316 R1/4 | 11 |47.8|417 125174\ 12 | 34 1162125 14 87 26 |PX316-02 [
PX1/4-01@® R1/8 | 8 |44.4|40.4 12 18 |PX14-01 |eied
PX1/4-02@0® | 1/4 Ri/4 | 11 |47.4 413 125| 17 | 12 | 34 | 1568125 14 | 10 | 26 PX14-02
PX1/4-03@® R3/8 | 12 492|428 17 39 |PX1'4-03
PX5/16-01 ®® R1/8 | 8 |48.7 447 » 24 | PX5'16-01
PX516-02@® | 5/16 | R1/4 | 11 51.7 457 145|181 | 14 | 34 172 145 16.5 | 29 |PX6'16-02
PX5/16-03@® R3/8 | 12 535|472 17 43 | PX5'16-03
PX3/8-01 @® R1/8 | 8 |5653 /513 221 41 |PX38-01
PX3/8-02@® R1/4 | 11 683 523 17 44 |PX38-02
PX38-030® ° | Rys | 12 503 b3 ° 207 18457195118 30 | 52 |Px3'%8-03
PX3/8-04 ®® R1/2 | 15 | 623 54.1 21 74 | PX3'8-04
PX1/2-02@® R1/4 | 11 638 578 \ 62 |PX12-02
PX1/2-03@0® | 1/2 R3/8 | 12 [64.8(585] 21 |237| 20 | 42 |225| 21 | 21 | 37 | 63 |PX12-03
PX1/2-04@® R1/2 | 15 |67.8|59.6 \ 78 |PX12-04

¥ 1.@ in Model code / Replaced with “W” for Light-gray color

3% 2. ® in Model code / Replaced with “C" for Clean-room package

% 3. “L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I"'F Fitting Series

. Tube Fitting

1' Union Y

AAC

ROHS compliant

FITTING
2-gP2
—

Model code

PY4@®® 4 328 | 10 10 | 149 | N 34 | 141 10 42 7.6 PY4
PY6 @® 6 377 13 12.5 17 12 34 158 | 125 10 1 PY6
PY8@® 8 424 | 15 145 | 181 14 34 | 172 | 145 | 165 16 PY8
PY10@® 10 484 | 18 18 | 207 18 45 | 195 18 27 26 | PY10
PY12@® 12 548 | 215 | 21 234 | 20 42 | 222 21 38 37 PY12
PY16@D® 16 622 | 25 25 | 24 24 45 | 221 25 | 565 | 45 | PY16
PY1/4@® 14 | 37.7 | 13 | 125 | 17 12 34 | 158 | 125 10 " PY1'4
PY5116@® | 5/16 | 424 | 15 | 145 | 181 14 34 | 172 | 145 | 165 16 | PY5'16
PY3/8 ®® 3/8 | 484 | 18 18 | 207 18 45 | 195 18 27 26 | PY3'8

3 1.@ in Model code / Replaced with “W" for Light-gray color
3% 2.(® in Model code / Replaced with “C” for Clean-room package

‘m; Unequal Union Y B OP,

o
Stsﬂlﬁm RoHMS compliant Q
o =
Q - - Y
& S
2 F ]
o Unit : mm
Model code
PW6-4@® 6 4 372 13 [125] 17 [ 149 12 | 34 | 152|125 42 | 11 | PW6-4
PW8-4@® 4 43.4 149 18.2 35 | 17 | PW8-4
] 1 145 | 18.1 14 4 14,
PW8-6 @® 8 6 425 ° 5|18 17 3 17.3 ° 10 | 15 | PW8-6
PW10-6 @® 6 502 17 213 10 | 27 |[PW10-6
=t IR 18 | 18 | 207 18 | 45 18
PW10-8 D® 0 8 48.1 182 19.2 17 | 23 |PW10-8
PW12-8 @® 8 56.4 18.4 238 225 | 40 |PW12-8
—=—— 215 | 21 | 234 20 | 42 21
PW12-10®® 12 10 | 546 20.2 22 27 | 36 PW12-10
PW1/4-4@® 1/4 4 372 13 [125| 17 [ 149 12 | 34 | 152|125 42 | 11 |PW14-4
PW5/16-1/4@® | 5/16 1/4 | 425 | 15 [ 145|181 | 17 | 14 | 34 [ 173 | 145| 10 | 15 |PWE16-14
PW3/8-516@® | 3/8 5/16 | 481 18 | 18 |20.7 | 182 | 18 | 45 192| 18 165 24 PW38-516

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.PiSCO.CO.jp

B ~—
@2 Plug-in Y G e R o :
a N =
ROHS compliant ~ o : %
o Tl
s B 8
od — 2
2-C g 3
N Unit - mm iy
<
=
PYJ4@® 4 4 487 10 | 10 149 19 | 11 | 34 141 10 | 2 | 65  PYJ4 m
PYJ6 @® 6 6 556 | 125 | 13 | 17 | 22 | 12 | 34 158|125 | 75 | 94 | PYJ6
PYJ8@® 8 8 592 145 | 15 | 181|232 14 | 34 172|145 165 13 @ PYJ8
PYJ10@® 10 10 |685| 18 | 18 |207| 25 | 18 | 45 | 195 | 18 | 27 | 23 | PYJ10
PYJ12@® 12 12 | 781 | 21 215|234 |285| 20 | 42 (222 | 21 | 42 | 34 | PYJI2
PYJ16 O® 16 16 | 896 | 25 | 25 (241 | 31 | 24 | 45 | 221 | 25 | 93 | 48 | PYJ16

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

(@UA) Unequal Plug-inY "% 55
: a o =
o =i
od 2’C 3
Q
q Unit : mm
PWJ6-4@® 4 6 509 10 10 | 149 22 | 11 | 34 141 10 | 42 | 68 PWJ6-4
PWJB-6@® 6 8 |565[125| 13 | 17 [232] 12 | 34 [168|125] 10 | 95 [PWJE-6 [|hcwmm
PWJ10-8@D® | 8 10 627 145 | 15 181 25 | 14 | 34 [ 172 145 165 15 |[PWJ10-8 [
PWJ12-10@0®| 10 12 | 698 | 18 | 18 1207 | 285 | 18 | 45 | 195 | 18 | 27 | 23 PWJI12-10 S
PWJ16-12@®| 12 16 | 821 21 | 215 234 31 20 | 42 222 21 | 55 | 40 |pwJie-12 [dhed

% 1.@ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

'EE) Bulkhead Union P E _ -
% Series

“‘ :::_,E,j

S
oP
T
|
|

no

(@]

<]
T

2-0D

Unit ©: mm

PMP4@®® 4 |M12x15 31.4 | 92 12 10 16 | 149 | 14
PMP6 @® 6 |M14x15/ 355 | 9.8 15 | 123 | 19 17 17
PMP8 @® 8 |MI6X15 384 | 107 | 155 | 142 | 22 | 181 | 19
PMP10@® | 10 |M20x2| 43 13 | 185 | 175 | 275 | 20.7 | 24
PMP12@® | 12 M24x2| 484 | 132 | 205 21 31 | 234 27
PMP1/4@®| 1/4 |M14x15 355 | 9.8 15 | 123 | 19 17 17
PMP5/16@®  5/16 |MI6x15 384 | 107 | 165 | 142 @ 22 | 181 | 19
PMP3/8@0®| 3/8 |M20x2 43 13 | 185 | 175 | 275 | 20.7 | 24
% 1.@ in Model code / Replaced with "W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.

4.2 6.8 | PMP4
10.7 | 96 | PMP6
191 14 PMP8
396 | 23 | PMPI10
476 | 32 | PMP12
132 | 95 |PMP14
19.2 14 |PMP5'16
325 24 | PMP3'8 Coupiing

DO OO OO




I"'F Fitting Series

. Tube Fitting

FITTING

I
Standard
Series

(@1® Bulkhead Union Elbow *72

ST
RoHS compliant a5 éA
36 :\: H = M
0 ) gliz
A F F =
L;’*r;,f %(Q
| —
E1
E2

Model code

PML4@®® 4 W2x15120.2132.8119.7 10 | 10 | 10 | 16 | 149|149 14
PML6 @® 6 Mi4x151 23.8 | 37.8 (22.8| 13 (123|125 19 | 17 | 17 | 17
PML8 @® 8 W6x15] 25.7 1 41.8125.7 1135142145 | 22 |18.1[18.1 19
PML1I0®® | 10 |MOXx2| 28 |47.8]/295 | 16.5|17.5|17.5|27.5]/20.2 | 20.7 | 24
PML12@® 12 |M24x2/33.2 54.7/32.6 /185 21 | 21 | 31 |23.4|234 27
PML1/4@®| 1/4 |Mix15/23.8/37.8(22.8| 13 (123125 19 | 17 | 17 | 17
PML5/16@®) | 5/16 |Mi6x15|25.7 | 41.8 257135142145 22 |18.1/18.1] 19
PML3/8@® | 3/8 |M0x2| 28 |47.8(/29.5|165|17.5|17.5/27.5|20.2|20.7 | 24
% 1.@ in Model code / Replaced with "W" for Light-gray color

% 2. (® in Model code / Replaced with “C” for Clean-room package

34 | 11 | PML4
9.4 | 17 | PML6
193] 256 | PML8
PML10
37.2| 59 | PML12
10.8| 17 | PML1'4
19.3| 25 |PML5'16
22.8| 42 | PML3'8

ool o/olo ol gl
N
©
N
N

(@Y2")) Tripod Union

AAC

ROHS compliant

Unit : mm
Model code : e

file name
PVU4@® 4 10 14.9 16.9 32 6.5 10 37 7.4 PVU4
PVU6 @® 6 125 17 20.1 42 8 125 8.3 1" PVUB
PVUS @® 8 145 18.1 22.1 42 10 145 16 16 PVU8
PVU10@® 10 175 20.2 26.2 42 12 175 30.2 25 PVU10
PVU12@® 12 21 23.4 29.4 42 14 21 40.2 36 PVU12

% 1. @ in Model code / Replaced with "W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.PiSCO.CO.jp

1, Tripod Elbow

ul
=
z
= th 3
_ < %@ 3
. . 2
+ % Metric thread type %
. 5
<
Unit - mm [
PVX4-M5@® M5X0.8(3(32) 21.7 81126 |23 | » Pl )
PVX4-M6@®) 4 M6X1| 4 |22.77|237 10 1149|169 10 32 | 65 | 10 3.6 PVX4-M6
PVX4-01 @® R1/8 | 8 247 257 4 | 14 |PVX4-01
PVX4-02@® R1/4 | 11 |27.7 267 14 35 | 23 |PVX4-02
PVX6-M5@® M5 X 0.8(3[32]| 25.3 |%86[%34) 23 . PUX6-M5(3¢65)
PVX6-M6@(®) M6 X 1 4 |26.3|286 12 5.9 PVX6-M6 Té
PVX6-01 @® 6 R1/8 8 |283/30.6|125/| 17 |20.1 42 | 8 125 85 | 18 PVX6-01 [
PVX6-02@® Ri/4 @ 11 313315 [ 14 | 8 | 26 |Pvx602 P
PVX6-03@®® R3/8 | 12 |33.1| 33 17 84 | 39 |pvxe-03 [
PVX8-01 @® R1/8 8 [30.4 /337 14 171 24 |PVX8-01
PVX8-02@® 8 R1/4 11 1334 /346|145 ]18.1 | 22.1 42 | 10 145175 | 30 |PVX8-02
PVX8-03®® R3/8 | 12 352 36.1 17 17.4 | 42 |PVX8-03
PVX10-01 @® R1/8 8 |35.2| 40 21.7 | 40 |PVX10-01
PVX10-02@® R1/4 | 11 382 409 17 315 | 44 |PVX10-02
PVX10-03@® 10 R3/8 | 12 392 416 1751202262 421121175 28.1| 52 |PVX10-03
PVX10-04 @® R1/2 | 15 |42.2 4238 21 24.3| 74 |PVX10-04  Reommmn
PVX12-02@® R1/4 | 11 412 457 409 64 |Pvx12-02 S
PVX12-03®®| 12 R3/8 | 12 (422 464 21 |234[294| 21 | 42 | 14 21 | 45 | 65 |PVX12-03 [y
PVX12-04@® R1/2 | 15 |45.2 475 448 81 [Pux1e-00 [
% 1.@ in Model code / Replaced with “W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. “L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products
% 5. Visit PISCO website for CAD data of clean-room package products. S;‘Pes
im!], Branch Union Elbow _J_ . -
AR E R
BN R o
od + [
- —
LE1] Unit ©: mm
PAU4@® 4 16.9 10 14.9 " 22.7 32 14.2 10 25 8.2 PAU4
PAUB @® 6 198 | 125 17 12 | 262 | 42 | 165 | 125 | 72 12 | PAUB
PAUS @® 8 22.7 145 18.1 14 29.4 4.2 16.9 145 16.3 17 PAU8

PAU10@® 10 25 175 | 202 18 335 4.2 18.5 175 | 279 28 PAU1TO
PAU12@O® 12 294 21 234 20 352 4.2 20.4 21 40 39 PAU12

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.

Coupling




I"‘; Fitting Series

. Tube Fitting

o @33 Branch Elbow g
[ T
2 5 T e
«q o~
R jl Lﬂ%
a E
2-C Metric thread type
c?‘ yp
=k
- 5 o
[ ——F
— od
F
Unit : mm
Model code
PAX4-M5@® M5X0.8/3(32)| 21.7 | B7%5) 22 12 PAXA-MB(5)
PAX4-M6@®® M6X1| 4 227 237 10 25 PAX4-MB
=l 10 (149 11 227 32 (142 10
PAX4-01 ®® R1/8 | 8 247|257 2.7 | 15 |PAX4-01
PAX4-02 @® R1/4 | 11 27.7|26.7 14 25 | 24 |PAX4-02
PAX6-M5®® M5X0.8/3(32)| 25 |83081) 22 | 17 |PAG-ME(H5)
PAX6-M6 D® M6X1| 4 | 26 283 12 6.4 | 18 |PAX6-M6
PAX6-01®® | 6 R1/8 | 8 | 28 1303125 17 | 12 262 42 [155/125| 69 | 19 |PAX6-01
PAX6-02 @® R1/4 | 11 | 31 (312 14 6.6 | 27 |PAX6-02
PAX6-03@® R3/8 | 12 32.8(32.7 17 6.8 | 40 |PAX6-03
PAX8-01 ®® R1/8 | 8 | 31 343 " 14.6| 25 PAX8-01
PAX8-02@® | 8 R1/4 | 11 | 34 |352 /145 181 14 294 42 (169|145 145 31 |PAX8-02
PAX8-03@® R3/8 | 12 35.8/36.7 17 15 | 44 |PAX8-03
PAX10-01 @® R1/8 | 8 | 34 388 21.6| 42 |PAX10-01
PAX10-02@® R1/4 | 11 | 37 [39.7 17 26.1| 46 |PAX10-02
e 17.5/202| 18 |335 42 (185[17.5
s— PAX10-03@® 10 R3/8 | 12 | 38 [40.4 27.2| 54 |PAX10-03
seis  PAX10-04@D® R1/2 | 156 | 41 (416 21 29.9| 76 |PAX10-04
PAX12-02@® Ri1/4 | 11 412 457 382 67 |PAX12-02
PAX12-03@® | 12 R3/8 | 12 422|464 21 |23.4| 20 |352| 21 | 42 |20.4| 21 431 68 |PAX12-03
PAX12-04®® R1/2 | 15 452|475 42.1| 83 |PAX12-04

¥ 1.@ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

im, Twin Banjo

jul
=
M d
=
ROHS compliant 5 —JI 2
M o
- o
F
- "E ~ =]
H Qo =
B~ 3§ e

SR

oP2 [FLIT]

- 7 I i I <
|- - z
| <
m

£ = VR L

Metric thread type .
P Unit © mm

PA4-M5@® 4 M5X0.8(3(32)[17.2 L2014 62(6) 10 |9.8| 149 10202 — | — | — | 8 1.9 9.6 |PAL-M5(%5)
PA6-01 ©® 6 R1/8 | 8 |27 23|12 |124|154| 17 |12]262|3.2|107| 14 |14 | 83 |25 |PAG-01
PA8-02@W® 8 R1/4 |11 315/255(135/144/ 19| 182 |14 294|3.2 125/ 15|17 | 165 | 42 | PA8-02
PA10-03@® 10 R3/8 |12 |36 29.7|15.7/17.6| 23 | 20.7 | 17(335/4.2| 15|18 |21 | 25.2 |70 |[PA10-03
PA12-04®® 12 R1/2 |13 140232 165/ 21 |27 | 23.4 1 20(374/42|17 |21 |24 39.7 |106/PA12-04
% 1. @ in Model code / Replaced with "W for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 8. “L1" and “L2" are reference values for height dimensions after tightening taper thread.

% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

=X
3™
o
20
SO
35
Z=]
m
5

Standard

im’ Link-up Twin Banjo -1 )
=1 3 sores
od 1
o F E

2-gD

PP
Series

H RCE
” o T )
- < | !
< _|oP2 ‘L ﬂ =
ST L2C m:‘,ﬁ
% =— R Metric thread type Unit : mm

B
L
L2
A1 ]
|
i
1L
T

PAF4-M5®® 4 M5X0.8/332) 5 120.2|M0762(6] 10]9.8| 14.9 [10/202) —  — | 8 | — | 1.7 |11 |PAFLNE(x5)
PAF6-01 @® 6 R1/8 | 8 | 7 |325|285| 12 |124|164| 17 |12262|3.2/10.7 14‘ 14 7 |27 PAF6-01
PAF8-02@® 8 R1/4 |11 /95(385/325/135/144/ 19| 182 114294/ 3.2/125/ 17 15| 13.8 | 44 |PAF8-02
PAF10-03@® 10 R3/8 | 12 105/445|382|157/176 23 | 20.7 1 17/335/4.2 /15|21 ‘ 181 21.9 |73 PAF10-03
1
1

PAF12-03@® R3/8 |12 105(51.2449 174 38.7 |123|PAF12-03
2127|234 120374/42/17 |24 |2
PAF12-04@® 12 R1/2 |13 [13(522|44 165 127|234 1203 7|24 2 39.2 111 PAF12-04

% 1.@ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. “L1" and “L2" are reference values for height dimensions after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




IJ': Fitting Series

. Tube Fitting

GE:I,Single Banjo

g
E H E
= s
T
oP2 L i 1
= —\-—é—‘iﬂ
Ql
S _l]7 ‘::!E ‘D;: % mt
Metric thread type Unit . mm
Model code
PH4-M5@® M5X0.8/3 (32)| 17.2 |142(14] 6.2 (6) 98 02| 8 2 | 7.5 |PHIMG(xE)
PH4-M6@® 4 | M6X1 39 182 143 63 | 10 Tol49 | T 34 | 7.4 |PH4-M6
PH4-01 ®® Ri/8 | 8 | 27 | 23 | 12 15.4 222 | 14 | 46 | 21 |PH4-01
PH6-M5@® M5X0.8(3 (3.2)| 17.2 |142(14]|74(7.2) o 0 | @ 1.9 . PHB-M5(:5)
PH6-M6 @® 4 M6X1| 39 | 182 | 143 | 75 . : . : 33 | 7 |PH6-M6
PH6-01 @® R1/8 8 | 27 | 23 | 12 T 154 242 14 [109 | 22 |PHB-01
PH6-02@® Ri/4 | 11 315 255 135 19.6 268 | 17 [ 116 | 36 |PHB-02
PH8-01 ®® Ri/8 | 8 | 27 | 23 123 15.4 262 | 14 | 149 | 23 |PH8-01
PH8-02@D® | 8 R1/4 | 11 | 315|255 |135| 145196 181|282 | 17 | 197 | 38 |PH8-02
PH8-03@® R3/8 | 12 | 36 | 297 | 157 24.4 302 | 21 | 214 | 60 |PH8-03
PH10-02®® - R1/4 | 11 | 315 255 15 . 19.6 202 305 | 17 | 231 | 41 |PH10-02
PH10-03@® R3/8 | 12 | 36 | 297 | 1567 244|777 325 21 |315| 63 |PH10-03
PH12-03®® 12 R3/8 | 12 | 36 297 172 o1 24.4 234 352 | 21 397 | 66 |PH12-03
a PH12-04 @® Ri/2 | 13 | 402 32 | 165 30 1382 | 24 498 97 PH12-04
PH16-03@® R3/8 | 12 |46.1 398|213 64.2 | 92 |PH16-03
m—— PH16-04@0 16 Ri/2 | 15 | 483 40.1 | 216 25| 28 241366 24 62.1 | 105 |PH16-04
seis  PH5/32-M5@® 530 M5X0.83(32)| 17.2 |142(1462(6) 0 9.8 149 212 8 2 | 7.5 |PH3B(D)
PH5/32-01 @® Ri/8 | 8 | 27 | 23 | 12 154 T 222 | 14 | 46 | 21 |PH532-01
PH3/16-M5@)® M5X0.8(3 (32)| 17.2 |142(14]|74(7.2) 9.8 235 | 8 | 19 | 84 |PHIIBNGGH)
PH3/16-01®® | 3/16 | R1/8 | 8 | 27 | 23 | 12 | 125|154 | 17.4 | 246 | 14 | 55 | 21 |PH316-01
PH3/16-02@® R1/4 | 11 | 315|255 135 19.6 272 17 | 61 | 35 |PH316-02
PH1/4-M5@® M5X0.8/3 (32)] 17.2 [142(14]|74(7.2) 9.8 231 8 | 19 | 81 |PHILM(kS)
PH1/401@® | 1/4 R1/8 | 8 | 27 | 23 | 12 | 125|154 17 |242| 14 [ 109 22 |PH1'4-01
PH1/4-02@®® Ri/4 | 11 | 315 255135 19.6 268 | 17 | 116 | 36 |PH1'4-02
PH5/16-01 @® Ri/8 | 8 | 27 | 23 123 15.4 262 | 14 [149 | 23 |PH5'16-01
PH5/16-02@® | 5/16 | R1/4 | 11 | 315 255 135 145|196 181 282 | 17 |19.7 | 38 |PH516-02
PH5/16-03@® R3/8 | 12 | 36 | 29.7 157 24.4 302 | 21 | 214 | 60 |PH516-03
PH3/8-02@® 8 R1/4 | 11 315265 15 | 196 ., 305 17 |231] 41 PH3'8-02
PH3/8-03@® R3/8 | 12 | 36 | 297 | 157 244|777 1325| 21 |315| 63 |PH38-03
PH1/2-03@® . R3/8 | 12 | 36 | 297 | 17.2 ~ 24.4 a7 355 21 |39.7 | 65 |PH1'2-03
PH1/2-04®® Ri/2 | 13 | 402 32 | 165 30 1385 | 24 | 498 97 | PH1'2-04

% 1. @ in Model code / Replaced with “W” for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

% 3. “L1" and “L2" are reference values for height dimensions after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

GEIE, Link-up Banjo

ROHS compliant

@1

ONILLIS

A2||T oP2

[/
%

g
| O ! ° ,j_'é'
“ 9 T — o ol = 5
R [ E = % Metric thread type - s
- - Unit : mm [P
m
PHF4-M5@® 4 M5X0.829031) 5 | 20.1 [17201M/72(7)| 9.9 | 9.8 149 199 8 | 1.7 | 7.9 |PHRLMSE(#5)
PHF4-01 ®® R1/8 | 8 | 7 |325/285 12 | 10 (154 ~|222 14 | 48 | 23 |PHF4-01
PHF6-M5@® M5X0.82931)| 5 |20.1 |172017(84(82)| 12.4 | 9.8 24 | 8 |16 | 9 |PHRBME(KH)
PHF6-01@®| 6 R1/8 | 8 | 7 |325|285]| 12 105 154 17 |242| 14 | 84 | 24 |PHF6-01
PHF6-02®® R1/4 | 11 | 95 |385 325|135 | 196 26.8| 17 [10.2| 38 |PHF6-02
PHF8-01 @® R1/8 | 8 | 7 |325/285 123 15.4 26.2| 14 1103 | 25 PHF8-01
PHF8-020®| 8 R1/4 | 11 | 95 |385325 135|145 196 181 282| 17 |155 | 39 |PHF8-02 §
PHF8-03®® R3/8 | 12 | 105|445 382 157 24.4 30.2| 21 |189| 63 |PHF8-03 §§
PHF10-02@® o R1/4 | 11 | 95 385 325/| 15 - 19.6 202 305 17 | 154 42 |PHF10-02 3%’
PHF10-03@®) R3/8 | 12 | 105|445 382 15.7 244777 325| 21 |249| 66 |PHF10-03
PHF12-03®® 12 R3/8 | 12 | 105 445 382|172 o 24.4 _— 352 | 21 |283| 69 H 12-03
PHF12-04®® R1/2 | 13 | 13 |522| 44 165 30 1382 24 426 102 |PHF12-04
PHF5/32-M5@)©) . M5X0.82931)] 5 |20.1 1720m(72(7) 9.9 | 9.8 149 199 8 |17 | 79 FHFMW
PHF5/32-01 9 R1/8 | 8 | 7 |325(285| 12 | 10 | 154 ~|222| 14 | 48 | 23 |PHF532-01
PHF3/16-M5®® M5X0.829031)| 5 | 20.1 [172(17)/84(82)| 12.4 | 9.8 244| 8 | 1.2 | 89 |PHIENEHE)
PHF3/16-01@®| 3/16 | R1/8 | 8 | 7 325 /285| 12 125 164 1174 246 | 14 | 53 | 23 |PHF316-01
PHF3/16-020® R1/4 | 11 | 95 385|325/135| ~~|196 27217 | 57 | 37 |PHF31600 [l
PHF1/4-M5@® M5X0.829(31)| 5 |20.1 |[172(17/84(82)| 12.4 | 9.8 24 | 8 | 1.6 | 89 [Pt Rk
PHF1/4-01@®)| 1/4 R1/8 | 8 | 7 325 285/ 12 ., 154 17 |242| 14 | 91 | 24 |PHF1'4-01 Ml
PHF1/4-02@® R1/4 | 11 | 95 |385|325|135| | 196 26.8| 17 [11.6| 38 |PHF14-02
PHF5/16-01 @®) R1/8 | 8 7 1325285123 15.4 262 | 14 103 | 25 |PHF5'16-01
PHF5/16-02@® 5/16 | R1/4 | 11 | 95 385 325 135|145 196 181|282 | 17 |155| 39 |PHF5'16-02
PHF5/16-03@® R3/8 | 12 | 105 445 382|157 24.4 30.2| 21 189 | 63 |PHF516-03
PHF3/8-02@® o R1/4 | 11 | 95 |385|325/| 15 - 19.6 0 2\305 17 1181 | 43 |PHF38-02 |[hmem
PHF3/8-03@® R3/8 | 12 | 105|445 382157 24.4 |325] 21 [228] 66 |PHF38-03 [l
PHF1/2-03@® 1o R3/8 | 12 | 105|445 382 17.2 o 24.4 3 355| 21 |283| 67 |PHF12-03
PHF1/2-04@® R1/2 | 13 | 13 |522| 44 165 30 11385 24 426 102 |PHF12-04

% 1.@ in Model code / Replaced with “W” for Light-gray color

2. ® in Model code / Replaced with “C” for Clean-room package

% 3. "L" is a reference value for height dimension after tightening taper thread.
% 4. Dimensions in [ ] are for clean-room package products

% 5. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I*‘F Fitting Series

. Tube Fitting

‘@D Triple Run Tee F1

2-T 3-0D2 3-gP2
Y

FITTING

F2
£z
1.1
e
T
e
E

oP1
oD1
E
N
[
>

Unit : mm

PKD6-4-01@® 6 4 |R1/8| 8 |684)184/343/30.1/10[13 10| 17 | 14934 8 |12/13| 5 |24 |PKD6-4-01

PKD8-4-02@® 4 737(19.2|36531.2| 10 10 149 34192 5.2 |34 |PKD8-4-02

1" 16 ——1 18.1 14115
PKD8-6-02@©® 8 6 R1/4 80.7/21.31 40 1347 12 13 17 1402 9 9.6 | 37| PKD8-6-02
PKD10-8-030® 10 8 | R3/8|12|93 237467/ 4014175156 20.7 | 18.1 462|105 17 |175| 19.1 | 60 |PKD10-8-03

% 1.@ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. “L1" is a reference value for height dimension after tightening thread.

1EI!3' Unequal Triple Te2eT e
2:03.3 %#\ [
NE | J‘L_£ § w
L — — T T
zlal 2cl |2
N 2-L .
(SN Unit © mm

BN Model code
Standard
Setes PKG6-4@® 6 4 3005(184 10 | 13 | 10 | 17 [149| 34 8 13 5 16 | PKG6-4
PKG8-4@® 8 4 31.2(192| 10 15 10 181 149 34 | 92 15 6 20 | PKG8-4
PKG8-6 @® 6 3471213 12 13 ’ 17 1402| 9 10.1 | 23 | PKG8-6
PKG10-6 @® 6 23.8 17 11.2] 31 |PKG10-6
— . 20.7 2 . .
PKG10-8@® 10 8 40 23.7 14175 15 120 18.1 46211051175 19.1 | 33 |PKG10-8

¥ 1.@ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Qﬁ]’ Plug-in Triple Tee F1

3-oD2 3-gP2
9033 | #%
: G & 3
E[ 7‘{ HASH At ) w
e e ©
N C1 &.i A
3 E1 ®
«
E2 E3
B Unit : mm

Model code

PKJ6-4@® 6 4 6 777/ 10(263/50.4/22 184/ 13 |10 17 | 149|34| 8 13| 4 |15|PKJIG-4
PKJ8-4@® 4 81.2| 10 |265|57.7 [192] 15 1 10| 181 149 |34 9.2 15 4.4 |18 | PKJ8-4
PKJ8-6 D® 6 882| 12|30 |647| " |21.3 13 ' 17 |402| 9 10 | 21| PKJ8-6
PKJ10-8@®| 10 8 10 100/ 14|35 | 75|25 237175/ 15| 20.7 | 18.1 |462/105/175/ 20.3 | 31 |PKJ10-8
% 1. @ in Model code / Replaced with “W” for Light-gray color

%2.® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.PiSCO.CO.jp

GEEZ!, Double Branch Y z
d
T 5
o
g
= 3
=T d =
— 3
R
<
. >
Unit : mm [P
m
PRX4-01 ®® R1/8 8 4571417 12 1.6 | 22 |PRX4-01
1051149 10 32 142|205
PRX4-02@® 4 R1/4 11 14871427 14 1.4 | 30 |PRX4-02
PRX6-01 ®®) 6 R1/8 8 [503(463| 13 | 17 | 13 | 14 | 35 | 158 | 26 9 29 PRX6-01

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 8. “L" is a reference value for height dimension after tightening thread.

5=
(Z:15)) Unequal Double Y . g2
o “8
) 3
8l -
o
o
®
<
Unit © mm
Standard
oeres
PRG64@® 6 | 4 |35 13 105 17 |149| 10 32 | 142 205| 15 | 14 PRG6-4 |at8
PRG8-6@®| 8 | 6 | 42 | 14 | 13 [182| 17 | 13 | 35 158 26 | 82 | 21 |PRG8&6

% 1.@ in Model code / Replaced with “W” for Light-gray color
% 2. (® in Model code / Replaced with “C” for Clean-room package

PP
Series

GEE!], Plug-in Double Y

B
E .
s
ol
SR —
ad
Unit : mm
PRJ6-4@® 4 6 563 | 22 10 [ 1056 ] 13 | 149 | 32 142|205 15 13 | PRJG-4
PRJ8-6 D® 6 8 60.8 | 232 | 13 13 14 17 | 35 | 168 | 26 | 7.1 19 | PRJB-6
% 1.@ in Model code / Replaced with "W for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package Coupling

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




I'“F Fitting Series

. Tube Fitting

¢ (ZEZ5) Twin Triple Run Tee
= F1
£ 6-0D2 6-0P2
T[]
[N 2-03.3 o«
Y ] T ?| W
af= — N e
S IN
c1 4 B/ALDR
L2 L1
B

Unit : mm

PKVD8-4-020® . (B14 11807 140 149 14| 45 | 45 |PKVDB-4-02
PKVD8-4-03@® 8 R3/8 12 825~ 415 w2l12015] 13| 1814 : 02 9 17| 15| 46 |58 PVDBAES
PKVD8-6-020® g R4 1187, 407 Cgg 14T 102 147 PrVD8602
PKVD8-6-03@® R3/8 |12 (825" " |415 17 10.3 | 60 | PKVD8-6-03
PKVD10-6-0306) 3 R3/8 |12 93 o 1467 - 117] 10.6 | 70 | PKVD10-6-03
PKVD10-6-0400®) R1/2|15|96 | " |478 21 11.1 | 93 | PKVD10-6-04
PKVD10-8-030® 10 : R3/8 |12 93 - 1467 4011417515 202 ™ #2105 117 175 20.6 | 74 | PKVDI0-8-03
PKVD10-8-040®) R1/2[15(96 | 478 : 21 19.4 | 96 |PKVD10-8-04

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. “L1" is a reference value for height dimension after tightening thread.

_
[:L4'75) Unequal Twin Triple Tee

I
Standard

i F1
Series
2T, 6-0D2 6-gP2
2-3.3 LT T
N o
= T T Q
= ©,

Model code

PKVG8-4 ®® 4 20.7 14.9 45 | 31 |PKVG8-4
= 34.7 12 1 15 | 13 181 402 9 | 15

PKVG8-6 ®® 8 6 213 17 103 32 |PKVG8-6
PKVG10-6@® 6 23.8 17 10.7 | 44 |PKVG10-6
= 40 14 1175|156 | 202 46.2| 105175

PKVG10-8@® L 8 23.7 18.1 19.6 | 48 |PKVG10-8

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

iﬁm’ Double Banjo

-
2-gD 2-gP1 g
[ &
FRER g
o Ll 4%
: P
Uy Sy L
L 5
J Lzl A =
J L1
H2 B Unit © mm
PHW4-01 @® R1/8 | 8 |433/39.4 16 " 5.1 | 30 |PHWA4-01
PHW4-02@®| 4 R1/4 | 11 463403 17 | 14 | 10 [15.4 149|222 14 | 44 | 36 PHWA4-02
PHW4-03@®) R3/8 | 12 483 42 187 17 | 45 | 49 |PHW4-03
PHW6-01 ®® R1/8 | 8 [43.3|39.4 16 ” o3 | 32 PHWe-01 I8
PHW6-02@®| 6 R1/4 | 11 [46.3(403| 17 | 14 [125(15.4| 17 |24.2 14 | 77| 37 | PHW6-02 gf
PHW6-03@® R3/8 | 12 483| 42 187 |17 | 95 | 51 |PHW6-03 [o
PHWS-01 @® R1/8 | 8 [46.2 423175 142 48 |PHWs-01 B
PHW8-02@® R1/4 | 11 492432185 17 153 51 |PHW8-02
PHW8-03@® 8 R3/8 | 12 |50.2 439192 1511451196181 )28.2 7 715 59 Prws-03
PHW8-04@® Ri/2 | 156 562 47.1/223 22 16.1| 90  PHW8-04
PHW10-02@® R1/4 | 11 |57.8/51.8 22 21.6| 91 |PHW10-02
PHW10-03@® 10 R3/8 | 12 |58.8(52.4/227| 18 | 18 |24.4/120.2|325| 22 | 22 |23.2| 96 |PHW10-03
PHW10-04 @® R1/2 | 15 |61.8 53.6 238 233|111 |PHW10-04
PHW12-02@® R1/4 | 11 |67.4/61.4/265 30 | 146 |PHW12-02
PHW1203@®| 12 | R3/8 | 12 |68462.1(27.2| 21 | 21 | 30 |23.4|382 27 27 |31.4| 151 PHWI2-03 [k
PHW12-04@®® Ri1/2 | 156 |71.4 633283 30.8| 159 PHWI2-04 [
PHW1/4-01 @) R1/8 | 8 |433(39.4| 16 " 15.3| 31 |PHW14-01 [EEES
PHW1/4-0200)| 1/4 R1/4 | 11 [463[403| 17 | 14 [125|154| 17 |242 14 | 15 | 37 |PHW1'4-02
PHW1/4-03@®) R3/8 | 12 483 42 187 17 16.1| 51 |PHW1'4-03
PHW5/16-02@®) R1/4 | 11 149.2/432|185 19 10.1] 51 |PHW516-02
PHW5/16-03@®) 5/16 | R3/8 | 12 |50.2/439[192 15 [145/19.6/18.1|28.2 17 1 9.9 | 59 |PHIN516-03
PHWS5/16-04@6) Ri1/2 | 156 562 47.1/22.3 22 10.2] 90 |PHis16-0: [
PHW3/8-02@® R1/4 | 11 |567.8/51.8 22 21.4| 91 |PHW38-02
PHW3/8-030® | 3/8 R3/8 | 12 |58.8(52.4/227| 18 | 18 |24.4/120.2|325| 22 | 22 |21.7| 97 |PHW38-03
PHW3/8-04®®) R1/2 | 15 |61.8 53.6 238 226|111 | PHW38-04

% 1.@ in Model code / Replaced with "W for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. “L1" and “L2" are reference values for height dimensions after tightening thread.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




= Fitting Series

1’ Triple Banjo

ROHS compliant

FITTING
@
(s
o
@
(s3
2

. Tube Fitting

L1
B

Unit : mm

Model code
PHT4-01 @® R1/8 | 8 |57.4/535 16 " 4.7 | 39 |PHT4-01
PHT4-020®| 4 R1/4 | 11 604544 17 | 14 | 10 [16.4 149|222 14 | 43| 44 PHT4-02
PHT4-03@® R3/8 | 12 62.4 56.1 187 17 | 42 | 58 |PHT4-03
PHT6-01 @® R1/8 | 8 [57.4|535 16 " 9.6 | 41 |PHT6-01
PHT6-02@0® 6 R1/4 | 11 |60.4|54.4| 17 | 14 [125(15.4| 17 |24.2 14 1 97 | 47 PHT6-02
PHT6-03@® R3/8 | 12 |62.4/56.1 187 |17 | 95 | 60 |PHT6-03
PHT8-01 @® R1/8 | 8 [61.2 573175 143 62 |PHT8-01
PHT8-02D® R1/4 | 11 |642/58.2/185 17 165 66 |PHT8-02
PHT8-03®® 8 R3/8 | 12 |65.2/58.9/19.2 15 |145/19.6/18.1)28.2 17 151 73 |PHT8-03
PHT8-04 ®® Ri/2 | 156 |70.2 62.1/22.3 22 " 1105 PHT8-04
PHT10-02@® R1/4 | 11 |75.8/69.8 22 21.9 115 |PHT10-02
PHT10-03@® 10 R3/8 | 12 |76.8(70.4/22.7| 18 | 18 |24.4/120.2|325| 22 | 22 |22.7| 121 |PHT10-03
PHT10-04®® Ri1/2 | 156 |79.8 71.6 238 22.6| 135 |PHT10-04
e PHT12-020® R1/4 | 11 |885 825|265 30.3| 182 |PHT12-02
S PHT12-0300 12 R3/8 | 12 1895(832 272 21 | 21 | 30 |23.4|38.2| 27 | 27 130.6| 188 |PHT12-03
PHT12-04@® R1/2 | 156 |925 84.4/283 315 196 |PHT12-04
PHT1/4-01 ®® R1/8 | 8 |57.4|535 16 " 9.8 | 41 |PHT14-01
PHT1/4-0200)| 1/4 R1/4 | 11 604 54.4| 17 | 14 [125[164 17 |242) " | 14 | 10 | 47 |PHT14-02
PHT1/4-03@® R3/8 | 12 |62.4 56.1/18.7 17 9.8 | 60 |PHT14-03
PHT5/16-020® R1/4 | 11 |64.2 582 185 . 1565 66 |PHT516-02
PHTS/16:0300| 516 | R3/8 | 12 |652/589 192 15 145196181 282 17 | | 73 PHTS1609
PHT5/16-04 0 Ri1/2 | 156 |70.2 62.1/22.3 22 1105 | PHT516-04
PHT3/8-02@® R1/4 | 11 |75.8/69.8 22 20.9| 116 |PHT38-02
PHT3/8-0300)| 3/8 R3/8 | 12 |76.8(70.4/227| 18 | 18 |24.4/120.2|325| 22 | 22 | 22 | 121 |PHT38-03
PHT3/8-04@® Ri1/2 | 15 |79.8 71.6/23.8 22.3| 136 |PHT38-04

% 1. @ in Model code / Replaced with "W for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. "L1" and “L2" are reference values for height dimensions after tightening thread.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

(7)) Double Twin Banjo

ONILLIS

r
T i T o
| ‘ | g
== g
Vi :
oP2 S
&
Unit © mm
PAW4-01 @® R1/8 8 |43.3/39.4 16 " 13 |35 PAWAO]
PAW4-02@®| 4 |R1/4| 11 [46.3]403| 17 | 14 | 10 | 10 [16.4| 149 |22.2 14 | 7| 40 |PAW4-02
PAW4-03@®) R3/8 12 483| 42 [187 17 | 42 | 54 |pAW4-03
PAW6-01 @® R1/8 8 |43.3/39.4 16 " 69 38 PAWs-01 B
PAW6-02@®| 6 |R1/4| 11 [46.3]40.3| 17 | 14 | 12 (124154 17 |26.2 14 | 7 | 44 |PAWB-02 gf
PAW6-03@® R3/8 | 12 |483 42 187 17 | 69 | 57 |PAWG-03 |5
PAWS-01 @® R1/8 8 |46.2(423/175 124 | 57 |pAWs-01 B
PAWS-02®® R1/4 11 [49.2/432/185 17 13.9 | 60 PAW8-02
PAWS-03@® 8 'Ra/s| 12 502439 192 16114 144/ 19 1182 294 17 14 | 67 |PAWS-03
PAWS-04@D® R1/2 | 15 |55.2(47.1 /223 22 99 PAWS-04
PAW10-02@® R1/4| 11 |57.8|51.8 22 21.6 | 104 |PAW10-02
PAW10-03@®| 10 |R3/8| 12 (58.8(52.4(22.7| 18 | 17 |17.6| 23 | 20.7 |335| 22 | 22 | 21.3 | 110 |PAW10-03
PAW10-04@® R1/2 15 |61.8/53.6/23.8 22.2 | 124 |PAW10-04
PAW12-02@® R1/4| 11 |67.4/61.4|265 432 | 163 |PAW12-02
PAWI203@® 12 |R3/8| 12 68.4/62.1/27.2| 21 | 20 | 21 | 27 | 23.4 |37.4| 27 | 27 | 44.4 | 168 |PAW12-03 [k
PAW12-04@® R1/2| 15 |71.4/633/283 46.4 | 176 PAW12-04 [
PAW1/4-01 D® R1/8| 8 |43.3/39.4 16 " , |38 IR seiics
PAW1/4-02@®)| 1/4 |R1/4| 11 |46.3]40.3| 17 | 14 | 12 [12.4(154| 17 |26.2 14 44 | PAW1'4-02
PAW1/4-03®®) R3/8 12 |48.3| 42 187 17 7.1 | 57 |PAW14-03
PAWS5/16-02®®) R1/4| 11 |49.2/432|185 19 13.9 | 60 |PAWS16-02
PAWS/16-03@6)| 5/16 | R3/8 | 12 |50.2(43.9 19.2| 15 | 14 [14.4| 19 | 18.2 |29.1 17 4, 87 PAWS'16-03
PAWS5/16-04 DG R1/2 | 15 |55.2(47.1 223 22 90 |PAWS160:  [SREN
PAW3/8-02@®) R1/4| 11 |57.8/51.8| 22 20.4 | 105 | PAW38-02
PAW3/8-03@®)| 3/8 |R3/8| 12 (58.8(52.4|22.7| 18 | 17 |17.6| 23 | 20.7 |335| 22 | 22 | 21.1 | 110 |PAW38-03
PAW3/8-04@®) R1/2| 15 |61.8/53.6/23.8 20.7 | 125 | PAW38-04

% 1. @ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. “L1" and “L2" are reference values for height dimensions after tightening thread.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




= Fitting Series

ZL53) Triple Twin Banjo
J2

6-0P1

FITTING

. Tube Fitting

RoHMS compliant - 6-0D

Unit : mm

Model code
PAT4-01 @® R1/8| 8 |57.4/535 16 " 48 | 46 |PAT4-01
PAT4-02@® | 4 |R1/4| 11 604|544 17 | 14 | 10 | 10 [16.4| 149 |22.2 14 | 44 | 51 PAT4-02
PAT4-03@(® R3/8 | 12 |62.4 56.1/18.7 17 | 42 | 65 |PAT4-03
PAT6-01 ®® R1/8| 8 |57.4|5635 16 "y 6.7 | 51 |PAT6-01
PAT6-02@®| 6 |R1/4| 11 60.4/54.4| 17 | 14 | 12 124164 17 (262 | 14 os |57 PAT6-02
PAT6-03@(® R3/8| 12 |62.4/56.1/18.7 17 = | 70 |PAT6-03
PAT8-01 @® R1/8| 8 |61.2/57.3/175 133 | 76 |PAT8-01
PAT8-02®® R1/4 11 |64.2/58.2/185 17 135 | 79 |PAT8-02
PAT8-03@® 8 R3/8 | 12 |65.2/589/19.2 16114 1144119 1182 294 17 139 | 86 |PAT8-03
PAT8-04®® R1/2 | 15 [70.2(62.122.3 22 14 118 PAT8-04
PAT10-02@® R1/4| 11 |76.8/69.8 22 o 135 | PAT10-02
PAT10-03@®| 10 |R3/8| 12 [76.8/70.4 22.7| 18 | 17 [17.6| 23 | 20.7 |335| 22 | 22 1141 |PAT10-03
PAT10-04 ®® R1/2| 15 |79.8/71.6/238 22 | 156 | PAT10-04
. PAT12-02@® R1/4 11 (885|825 265 43.1 | 207 |PAT12-02
S0 PAT12-03@®)| 12 |R3/8| 12 |89.5832|272| 21 | 20 | 21 | 27 | 234 |37.4| 27 | 27 | 44.8 | 213 |PAT12-03
PAT12-04@® R1/2| 15 |92.5/84.4/283 45.8 | 221 |PAT12-04
PAT1/4-01®® R1/8| 8 |57.4|535 16 " 7 | 51 |PAT1/4-01
PAT1/4-02@®| 1/4 |R1/4| 11 |60.4|54.4| 17 | 14 | 12 [12.4(16.4| 17 |26.2 14 | 7.2 | 56 |PAT1/4-02
PAT1/4-03@® R3/8 | 12 |62.4/56.1/18.7 17 | 7.1 | 70 |PAT1/4-03
PAT5/16-02@®) R1/4| 11 |64.2/582/185 . 135 | 79 |PATS/16-02
PAT5/16-03@E) | 5/16 |[R3/8 | 12 65.2 589 19.2| 15 | 14 |[14.4| 19 | 182 29.1| "~ | 17 | 139 86 PATS/I6-03
PAT5/16-04 @®) R1/2| 15 |70.2/62.1 /223 22 14 118 | PATS/16-04
PAT3/8-02@® R1/4| 11 |756.8/69.8 22 20.5 | 137 | PAT3/8-02
PAT3/8-03@® 3/8 R3/8| 12 |76.8/70.4/22.7 18 | 17 |17.6| 23 | 20.7 |335| 22 | 22 | 20.8 | 142 |PAT3/8-03
PAT3/8-04@® R1/2| 15 |79.8/71.6/238 20.9 | 157 | PAT3/8-04

% 1.@ in Model code / Replaced with "W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package
% 3. "L1" and “L2" are reference values for height dimensions after tightening thread.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

(2L Union Cross 4-0D

ul

I

d

rop O 3

; P ©

W 3

- N E

1T = Tl 3

/ N e

Y 1} X 2-0d : e

i == <

F1 E

Unit  mm [l
PZA8@® 8 23.2 15 182 18 9 32 15 175 20 PZA8
PZA10@® 10 27 175 | 207 | 225 1.3 42 175 | 293 32 | PZA10
PZA12@® 12 30.7 21 23.4 245 12.3 42 21 436 46 PZA12
PZA1/4@® | 1/4 | 20.95 13 17 18 9 32 13 10.2 14 | PZA1'4
PZA5/16 D®| 5/16 232 15 18.2 18 9 32 15 17.5 20 |PZA5'16
PZA3/8@® | 3/8 27 175 | 207 | 225 1.3 42 175 | 228 33 | PZA3'8
PZA12@® | 1/2 31 21 237 | 245 12.3 42 21 46.3 a4 | PZA12

=X
3™
o
20
SO
35
Z=]
m
5

% 1. @ in Model code / Replaced with “W" for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

'EB. Unequal Cross 2.0D1  2-C2

Standard
I — I Series
5 3 top
« Q Series
o :
L | ot
Q
PP
. SEUE]
Unit © mm
PZB8-6 ©® 8 6 23251232 156 | 182169 | 18 9 3.2 15 | 10.6 | 20 |PZB8-6
PZB10-8 ®® 10 8 26.7 | 27 | 175|207 |182 225|113 | 42 | 175|193 | 29 |PZB10-8
PZB12-10@0® 12 10 305|307 21 | 234207 245 123 | 42 | 21 308 44 [PZB12-10

PZB5/16-1/4@®| 5/16 1/4 2325232 | 15 | 182|169 | 18 9 3.2 15 1135 19 [PB516-14
PZB3/8-5/16@®  3/8 516 | 267 | 27 | 175|207 | 182|225 113 | 42 [ 175 | 19 30 |PZB38-516
PZB1/2-38@®, 1/2 3/8 305 | 31 21 1237207 | 245 123 42 | 21 | 271 | 44 |pPZB12-38
% 1.@ in Model code / Replaced with “W" for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




IFF Fitting Series

. Tube Fitting
1@3' Reducing Cross

AAMC

ROHS compliant

FITTING

Unit : mm

Model code

PZC8-6@® 8 6 465 2325/232| 15 |182[169 | 18 | 9 [ 32| 156 | 9 | 19 |PzZC86
PZC10-8@® | 10 8 |53.7/267| 27 175|207 182 (225|113 | 42 |175[17.4| 28 |PZC10-8
PZC12-100® 12 10 |61.2[305(307| 21 |23.4[207 245123 42 | 21 293 44 PzC12-10

PZC5/16-14@®)| 5/16 1/4 |46.45|2325/232| 15 |182|16.9| 18 9 | 32|15 | 12 | 19 PzC516-14
PZC3/8-5/16@06)  3/8 5/16 | 53.726.7 | 27 175|207 182225 113 | 42 | 175 182 28 |PIC38516
PZC1/2-38@®| 1/2 3/8 615305 31 | 21 [237/20.7 245 123 42 | 21 174 44 |pzC12-38
% 1.@ in Model code / Replaced with "W for Light-gray color

% 2. ® in Model code / Replaced with “C” for Clean-room package

@CEp) union Stem .

a
- Q
’ -
Unit : mm
Model code Tube dia. B Effective area Weight . CAD
oD (mm2) (9) file name
—— P|J4D® 4 34.8 42 03 PIJ4
Standard
sis  PIJ6@® 6 38.2 1.2 0.6 PIJ6
PIJ8 @®® 8 414 242 1 PIU8
PIJ10@® 10 46.2 37.1 1.7 PIJ10
PIJ12@® 12 52.8 56 2.8 PIJ12
PIJ16 @® 16 55.6 113.7 38 PIJ16

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

@;Unequal Union Stem .

loD2

ROHS compliant / = H
Q

Unit : mm

Model code Tube dia. Effective area Weight :

oD1 (mm2) (9) file name
PIG6-4 @©® 6 4 36.7 42 05 PIG6-4
PIG8-4@® - 4 41.1 42 0 PIG8-4
PIG8-6 ®® 6 40.5 11.2 ’ PIG8-6
PIG10-6 @® 10 6 437 11.2 1.4 PIG10-6
PIG10-8@® 8 44 19 1.3 PIG10-8
PIG12-8@® = 8 475 19 2.1 PIG12-8
PIG12-10® 10 49.6 39.7 22 PIG12-10
PIG16-10@0® 16 10 52.5 39.7 45 PIG16-10
PIG16-120® 12 54.4 475 42 PIG16-12

% 1.@ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



(3", PT Jack

ROHS compliant

Metric thread type

http:

P.754

PISCO.

//www.PiSCO0.CO.jp

Unit © mm
PTJ4-M5® 4 M5 X 0.8 3(3.2) 275 |245(243) 185 8 2.2 4.1 PTJA-MB(%6)
PTJ4-01® R1/8 8 30.5 26.5 ’ 10 3.8 8.4 PTJ4-01
PTJ6-M5® M5 < 0.8 3(3.2) 305 |275(27.3) 8 2.2 15 PTJB-MB(3%6)
PTJ6-01® 6 R1/8 8 325 28.5 20.5 10 M1 8.7 PTJ6-01
PTJ6-02® R1/4 11 36.5 30.5 14 ’ 19 PTJ6-02
PTJ8-01 ® R1/8 8 34 30 10 17.8 8.6 PTJ8-01
PTJ8-02® 8 R1/4 1K 37 31 21 14 23.1 18 PTJ8-02
PTJ8-03® R3/8 12 38.8 325 17 24.2 31 PTJ8-03
PTJ10-03® 10 R3/8 12 415 35.2 285 17 43.1 30 PTJ10-03
% 1. ® in Model code / Replaced with “C” for Clean-room package
2. “L1" is a reference value for height dimension after tightening taper thread.
% 8. PTJ withTube O.D.8mm and 10mm do not have the groove for Mini Series
% 4. PTJ is applicable for PISCO Tube fitting Standard and Mini Series only.
% 5. Dimensions in [ ] are for clean-room package products
3% 6. Visit PISCO website for CAD data of clean-room package products.

||333’ Unequal Screw Union Ref
| i iz
| I
liant — | | | H
= A0
(= % o Y7
‘.@ ‘L* =
] | 1
< 4 < :J ‘ K|~
P \Rc2

Unit : mm
PFF01-M5® | Rc1/8 |M5X0.8 7 4 17 7 8 14 53 12 PFFO1-M5
PFF02-01® Rc1/4 | Rc1/8 9.5 ‘ 7 21 8 14 17 22.1 23 PFF02-01

- 7 22 8 14 28.8 32 PFF03-01

PFF03-01® Rc3/8 Rc1/8 105 o1
PFF03-02® Rc1/4 9.5 25 " 17 37.7 36 PFF03-02
PFF04-02(® Rc1/2 Rc1/4 13 ‘ 95 30 " 17 o4 50.8 51 PFF04-02
PFF04-03® ¢ Rc3/8 ‘ 10.5 33 14 21 89.8 58 PFF04-03

% . (® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.

H3770HINOO  ONILLIS

IATVA

=X
3™
o
20
SO
35
Z=]
m
3

Standard
Series

Mini
Series

PP
Series

Coupling




I'“'; Fitting Series

. Tube Fitting
1.33' Extension Screw Adaptor Re

o
g 7
G gLy
§ ,fl = J‘r -4 d/
-, \ .| 0
e @
’)
@ 3 .
L e,
= TR R
Metric thread type Unit © mm
Model code . CAD
file name
PFM5-M5® 195|165 [16.3] 53 |PRM5MB(kL)
PFM5-MSLE M5 % 0.8 10 08| 3321 ° 23 200198 ° 22 6.2 |PFUBNBLOK)
PFM5-01® Rc1/8 7 145 |1150113) 14 2.4 11 PRMB-01(xd)
PF01-M5® M5 X 0.8 6 12 8 10 12 57 |PFO1-M5
PF01-01® Rig | RC18 g 7 285 245 14 22 18 | PFO1-01
PF01-02® Rc1/4 95 21 17 17 24.1 19 | PFO1-02
PF01-03® Rc3/8 105 22 18 21 239 28 | PF01-03
PF02-M5® M5 X 0.8 6 16 10 " 11.9 16 PFO2-M5
PF02-01® Rc1/8 7 19 13 24.1 17 PF0O2-01
PF02-02® | Ri1/4 | Rci/a 11 95 33 27 17 449 32 | PF02-02
PF02-03® Rc3/8 105 25 19 21 46.7 32 | PF02-03
PF02-04® Rci1/2 13 30 24 24 465 44 | PFO2-04
PF03-01® Rc1/8 7 175 112 " 253 25 | PF03-01
PF03-02(® . Rc1/4 2 95 225 16.2 43 27 | PF03-02
PF03-03® 38 Reas 105 37 30.7 21 68.1 53 | PF03-03
“Swen  PF03-04® Rc1/2 13 31 247 24 67.5 47 | PF03-04
%% PF04-04® | R1/2 | Rel/2 15 13 43 34.8 24 80.9 86 | PF04-04

%1.® in Model code / Replaced with “C” for Clean-room package

% 2. “L" is a reference value for height dimension after tightening taper thread.
% 3. Dimensions in [ ] are for clean-room package products

% 4. Visit PISCO website for CAD data of clean-room package products.

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



PISCO.

http://www.piSC0.CO.jp

o

I
3
=
=z
RoOHS compliant o)
\ Q
g
E
3
3
Unit © mm
<
>
<
m
PPF4®® 4 16.4 10 14.9 24 PPF4
PPF6@® 6 185 125 17 \ 33 PPF6
PPF8@® 8 199 145 18.4 4.7 PPF8
PPF10@® 10 223 17.5 20.7 | 7.8 PPF10
PPF12@® 12 24.9 21 22.9 12 PPF12
PPF16(@D® 16 276 25 24.1 \ 132 PPF16
PPF1/4@® 1/4 185 125 17 33 PPF1'4
PPF5/16@® 5/16 19.9 145 18.4 \ 4.7 PPF5'16
PPF3/8(0® 3/8 22.3 175 20.7 7.8 PPF3'8

=X
3™
o
20
SO
35
Z=]
m
5

% 1. @ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

lll[:][::ll' F) ILJ!; E?!:& EEE!E; IE!II:I Standard

Series

RoHMS compliant B ini
— Series
o= = :
E nNé
Unit : mm
PP
Series
PP4@® 4 275 15 5 3 03 PP4
PP6@® 6 325 17 7 3 0.7 PP6
PP8@® 8 36.5 18.1 9 4 1.1 PP8
PP10@® 10 42 20.2 11 5 1.9 PP10
PP12@® 12 44 234 13 6 2.4 PP12
PP16 @® 16 46 24.1 17 8 42 PP16
PP1/4@® 1/4 33 17 75 3 0.7 PP1'4
PP5/16 @® 5/16 36.5 18.1 9 4 0.9 PP5'16
PP3/8 D® 3/8 42 20.2 105 5 15 PP3'8

% 1.@ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.




(>~

= Fitting Series

1’ Female Elbow

ROHS compliant

FITTING

. Tube Fitting

Unit © mm
Model code
PLF4-M5®® M5x08 228 | 178 0 37 82 |PLF4-M5
PLF4-M6 ®® . (Mex1 233 | 183 | o g 83 |PLF4-M6
PLF4-01 @® Rc1/8 | 7 263 | 213 ) 14 35 14 |PLF4-01
PLF4-02@® Rci/4 | 95 | 293 | 243 17 21 |PLF4-02
PLF6-M5®® M5x08 248 | 185 12 55 13 |PLFE-M5
PLF6-M6 ®® M6 X 1 25.3 19 6.4 PLF6-M6
PLF6-01@® 6 Rc1/8 | 7 283 | 22 | 125 | 168 | 198 | 14 | . 16 PLF6-01
PLF6-02@® Rc1/4 | 95 | 313 | 25 17 ’ 22  |PLF6-02
PLF6-03@® Rc3/8 | 105 | 323 | 26 21 10 31 |PLF6-03
PLF8-01 @® Rc1/8 | 7 323 | 25 14 | 176 | 19 |PLF8-01
PLF8-02@® 8 Rc1/4 | 95 | 353 | 28 | 145 | 181 | 227 | 17 | 177 | 26 |PLF8-02
PLF8-03@® Rc3/8 | 105 | 363 | 29 21 18.1 31 |PLF8-03
PLF10-02@® Rci/4 | 95 | 408 | 32 19 | 227 | 39 |PLF10-02
PLF10-03®® | 10 Rc3/8 | 105 | 418 | 33 | 175 | 202 | 262 | 21 30 42 |PLF10-03
PLF10-04@®® Rci/2 | 13 | 458 | 37 24 | 306 | 52 |PLF10-04
“Sed  PLF12-0200 Rcl/4 | 95 | 445 | 34 53 |PLF12-02
% pF12.03@® 12 | Re3/8 | 105 | 455 35 21 | 234 204 | & 48 48 | PLF12-03
PLF12-04@® Rc1/2 | 13 | 495 | 39 24 58 |PLF12-04
PLF5/32-M5(®®) M5X0.8/ 5 228 | 178 10 37 | 82 |PLFE3-MS
PLF5/32-01@® 5/32 | Rcl/8 | 7 263 | 213 | 10 | 149 | 18 14 a5 14 |PLF532-01
PLF5/32-02@®) Rci/4 | 95 | 293 | 243 17 : 21 |PLF532-02
PLF3/16-M5(® M5X0.8 5 248 | 185 12 4.2 12 PLF316-M5
PLF3/16-01 ©® Rc1/8 7 283 | 22 14 53 16 |PLF316-01
PLF3/16-020®) 316 Rci/4 | 95 | 313 | 25 125 172 1 202 g - 22 |PLF316-02
PLF3/16-030® Rc3/8 | 105 | 323 | 26 21 : 31 |PLF316-03
PLF1/4-M5@® M5X0.8 5 248 | 185 12 55 12 |PLF1'4-M5
PLF1/4-01 @® i Rc1/8 7 283 | 22 s | 6o | e 14 o 15 PLF1:4—01
PLF1/4-02@® Rci/4 | 95 | 313 | 25 17 22 |PLF14-02
PLF1/4-03®® Rc3/8 | 105 | 323 | 26 21 10 30 |PLF14-03
PLF5/16-01 ©® Rc1/8 7 323 | 25 14 17.6 19 | PLF516-01
PLF5/16-02@® 5/16 | Rci/4 = 95 | 353 | 28 | 145 | 181 | 227 | 17 | 197 | 26 PLF516-02
PLF5/16-030)® Rc3/8 | 105 | 363 | 29 21 18.1 | 31 |PLF516-03
PLF3/8-02@® Rc1/4 | 95 | 408 | 32 19 | 227 | 40 |PLF38-02
PLF3/8-03@® 3/8 | Rc3/8 | 105 | 418 = 33 | 175 202 | 262 | 21 30 42 |PLF38-03
PLF3/8-04®® Rc1/2 | 13 | 458 | 37 24 | 306 | 52 |PLF38-04
PLF1/2-02@® Rci/4 | 95 | 445 | 34 o 52 | PLF12-02
PLF1/2-03®®| 1/2 | Rc3/8 | 105 | 455 | 35 21 237 | 297 48 47 | PLF12-03
PLF1/2-04@® Rc1/2 | 13 | 495 | 39 24 57 |PLF12-04

% 1.@ in Model code / Replaced with “W” for Light-gray color
% 2. ® in Model code / Replaced with “C” for Clean-room package

Page for special specifications 3D CAD data is available at PISCO website. CAD data is available at PISCO website.



Safety Instructions

/N SAFETY Instructions

This safety instructions aim to prevent personal injury and damage to
properties by requiring proper use of PISCO products.
Be certain to follow ISO 4414 and JIS B 8370
ISO 4414 : Pneumatic fluid power---Recomendations for the application of equipment

to transmission and control systems.
JIS B 8370 : General rules and safety requirements for systems and their components.

This safety instructions is classified into “Danger”, “Warning” and “Caution” depending on
the degree of danger or damages caused by improper use of PISCO products.

&D Hazardous conditions. It can cause death or serious
anger personal injury.

& W : Hazardous conditions depending on usages. Improper use of
amlng PISCO products can cause death or serious personal injury.

& C t Hazardous conditions depending on usages. Improper use of PISCO
au |0n products can cause personal injury or damages to properties.

A Warning I

1. Selection of pneumatic products
@ A user who is a pneumatic system designer or has sufficient experience
and technical expertise should select PISCO products.
@ Due to wide variety of operating conditions and applications for PISCO
products, carry out the analysis and evaluation on PISCO products.
The pneumatic system designer is solely responsible for assuring that
the user's requirements are met and that the application presents no
health or safety hazards. All designers are required to fully understand
the specifications of PISCO products and constitute all systems based
on the latest catalog or information, considering any malfunctions.

2. Handle the pneumatic equipment with enough knowledge and experience
@ Improper use of compressed air is dangerous. Assembly, operation
and maintenance of machines using pneumatic equipment should be
conducted by a person with enough knowledge and experience.

3. Do not operate machine / equipment or remove pneumatic equipment until
safety is confirmed.
@ Make sure that preventive measures against falling work-pieces or
sudden movements of machine are completed before inspection or
maintenance of these machine.

® Make sure the above preventive measures are completed. A
compressed air supply and the power supply to the machine must be
off, and also the compressed air in the systems must be exhausted.

® Restart the machines with care after ensuring to take all preventive
measures against sudden movements.

% . This safety instructions are subject to change without notice.



PISCO.

http://www.pisco.co.jp

Disclaimer I

1. PISCO does not take any responsibility for any incidental or indirect
loss, such as production line stop, interruption of business, loss
of benefits, personal injury, etc., caused by any failure on use or
application of PISCO products.

2. PISCO does not take any responsibility for any loss caused by natural
disasters, fires not related to PISCO products, acts by third parties, and
intentional or accidental damages of PISCO products due to incorrect
usage.

3. PISCO does not take any responsibility for any loss caused by improper
usage of PISCO products such as exceeding the specification limit or not
following the usage the published instructions and catalog allow.

4. PISCO does not take any responsibility for any loss caused by remodeling
of PISCO products, or by combinational use with non-PISCO products and
other software systems.

5. The damages caused by the defect of Pisco products shall be covered but
limited to the full amount of the PISCO products paid by the customer.



Safety Instructions

/A SAFETY INSTRUCTION MANUAL

PISCO products are designed and manufactured for use in general industrial
machines. Be sure to read and follow the instructions below.

A\ Danger I
1. Do not use PISCO products for the following applications.
@ Eqguipment used for maintaining / handling human life and body.
® Equipment used for moving / transporting human.
® Equipment specifically used for safety purposes.

A Warning I

1. Do not use PISCO products under the following conditions.
(D Beyond the specifications or conditions stated in the catalog, or the instructions.
@ Under the direct sunlight or outdoors.
(® Excessive vibrations and impacts.
@ Exposure / adhere to corrosive gas, inflammable gas, chemicals, seawater, water and vapor. *
* Some products can be used under the condition above(®), refer to
the details of specification and condition of each product.

2. Do not disassemble or modify PISCO products, which affect the
performance, function, and basic structure of the product.

3. Turn off the power supply, stop the air supply to PISCO products, and make sure
there is no residual air pressure in the pipes before maintenance and inspection.

4. Do not touch the release-ring of push-in fitting when there is a working pressure.
The lock may be released by the physical contact, and tube may fly out or slip out.

5. Frequent switchover of compressed air may generate heat, and there is a
risk of causing burn injury.

6. Avoid any load on PISCO products, such as a tensile strength, twisting
and bending. Otherwise, there is a risk of causing damage to the products.

7. As for applications where threads or tubes swing / rotate, use Rotary
Joints, High Rotary Joints or Multi-Circuit Rotary Block only. The other
PISCO products can be damaged in these applications.

8. Use only Die Temperature Control Fitting Series, Tube Fitting Stainless SUS316
Series, Tube Fitting Stainless SUS316 Compression Fitting Series or Tube Fitting
Brass Series under the condition of over 60°C (140° F) water or thermal oil. Other
PISCO products can be damaged by heat and hydrolysis under the condition above.

9. As for the condition required to dissipate static electricity or provide an antistatic
performance, use EG series fitting and antistatic products only, and do not use other PISCO
products. There is a risk that static electricity can cause system defects or failures.

10. Use only Fittings with a characteristic of spatter-proof such as Anti-
spatter or Brass series in a place where flame and weld spatter is
produced. There is a risk of causing fire by sparks.

11. Turn off the power supply to PISCO products, and make sure there is
no residual air pressure in the pipes and equipment before maintenance.
Follow the instructions below in order to ensure safety.

(M Make sure the safety of all systems related to PISCO products before maintenance.
©@ Restart of operation after maintenance shall be proceeded with care after
ensuring safety of the system by preventive measures against unexpected
movements of machines and devices where pneumatic equipment is used.
® Keep enough space for maintenance when designing a circuit.

12. Take safety measures such as providing a protection cover if there is a

risk of causing damages or fires on machine / facilities by a fluid leakage.



PISCO.

http://www.pisco.co.jp

/A Caution I

1. Remove dusts or drain before piping. They may get into the peripheral
machine / facilities and cause malfunction.

2. When inserting an ultra-soft tube into push-in fitting, make sure to place
an Insert Ring into the tube edge. There is a risk of causing the escape of
tube and a fluid leakage without using an Insert Ring.

3. The product incorporating NBR as seal rubber material has a risk of
malfunction caused by ozone crack. Ozone exists in high concentrations
in static elimination air, clean-room, and near the high-voltage motors,
etc. As a countermeasure, material change from NBR to HNBR or FKM is
necessary. Consult with PISCO for more information.

4. Special option “Oil-free” products may cause a very small amount of a fluid
leakage. When a fluid medium is liquid or the products are required to be
used in harsh environments, contact us for further information.

5. In case of using non-PISCO brand tubes, make sure the tolerance of the
outer tube diameter is within the limits of Table 1.

@ Table 1. Tube O.D. Tolerance

m Nylon tube | Polyurethane tube Nylon tube | Polyurethane tube

21.8mm +0.05mm 21/8 +0.1mm +0.15mm
@3mm — +0.15mm 25/32 +0.1mm +0.15mm
@4mm +0.1mm +0.15mm 23/16 +0.1mm +0.15mm
@6mm +0.1mm +0.15mm @1/4 +0.1mm +0.15mm
@8mm +0.1mm +0.15mm 25/16 +0.1mm +0.15mm
210mm +0.1mm +0.15mm 23/8 +0.1mm +0.15mm
@12mm +0.1mm +0.15mm @1/2 +0.1mm +0.15mm
@16mm +0.1mm +0.15mm 25/8 +0.1mm +0.15mm

8. Instructions for Tube Insertion
@ Make sure that the cut end surface of the tube is at right angle without
a scratch on the surface and deformations.
® When inserting a tube, the tube needs to be inserted fully into the push-
in fitting until the tubing edge touches the tube end of the fitting as
shown in the figure below. Otherwise, there is a risk of leakage.

Tube end O x

Sealing

Tube is not fully inserted up to tube end.

® After inserting the tube, make sure it is inserted properly and not to be
disconnected by pulling it moderately.

¥ . When inserting tubes, Lock-claws may be hardly visible in the hole, observed
from the front face of the release-ring. But it does not mean the tube will
surely escape. Major causes of the tube escape are the followings;
M Shear drop of the lock-claws edge
®@The problem of tube diameter (usually small)
Therefore, follow the above instructions from @ to @, even lock-claws
is hardly visible.




Safety Instructions

7. Instructions for Tube Disconnection
(M Make sure there is no air pressure inside of the tube, before disconnecting it.
®@ Push the release-ring of the push-in fitting evenly and deeply enough to
pull out the tube toward oneself. By insufficient pushing of the release-
ring, the tube may not be pulled out or damaged by scratch, and tube
shavings may remain inside of the fitting, which may cause the leakage
later.
8. Instructions for Installing a fitting
@ When installing a fitting, use proper tools to tighten a hexagonal-column
or an inner hexagonal socket. When inserting a hex key into the inner
hexagonal socket of the fitting, be careful so that the tool does not
touch lock-claws. The deformation of lock-claws may result in a poor
performance of systems or an escape of the tube.
®@ Refer to Table 2 which shows the recommended tightening torque. Do
not exceed these limits to tighten a thread. Excessive tightening may
break the thread part or deform the gasket and cause a fluid leakage.
Tightening thread with tightening torque lower than these limits may
cause a loosened thread or a fluid leakage.

® Adjust the tube direction while tightening thread within these limits,
since some PISCO products are not rotatable after the installation.
@ Table 2. Recommended tightening torque / Sealock color / Gasket

materials
M3 X 0.5 0.7N'm SUS304
M5 X 0.8 1.0 ~ 1.5N'm NBR
M6 X 1 2 ~2.7N'm
Metric thread M3 X 0.5 0.5 ~0.6N'm —
M5 X 0.8 1~15N'm
M6 X 0.75 0.8 ~1N'm POM
M8 X 0.75 1~2N'm
R1/8 7 ~9N'm
. R1/4 12 ~ 14N'm .
Taper pipe thread R3/8 25~ 24N White
R1/2 28 ~ 30N'm
Unified thread No.10-32UNF 1.0 ~ 1.5N'm — SUS304. NBR
1/16-27NPT 7 ~9N'm
. ) 1/8-27NPT 7 ~9N'm
National pipe 1/4-18NPT 12 ~ 14N'm White —
thread taper
3/8-18NPT 22 ~24N'm
1/2-14NPT 28 ~ 30N'm

¥ These values may differ for some products. Refer to each specification as well.
9. Instructions for removing a fitting
@ When removing a fitting, use proper tools to loosen a hexagonal-column
or an inner hex bolt.

® Remove the sealant stuck on the mating equipment. The remained
sealant may get into the peripheral equipment and cause malfunctions.

10. Arrange piping avoiding any load on fittings and tubes such as twist,
tensile, moment load, shaking and physical impact. These may cause
damages to fittings, tube deformations, bursting and the escape of tubes.



I"F Fitting Series

A Common Safety Instructions for Fittings

FITTING

Before selecting or using PISCO products, read the following instructions. Read the
detailed instructions for individual series as well as the instructions below.

A Warning IIEEE——

1. Do not use fittings with fluid medium other than air or water. (Water can be
used with some series.) Contact us for using other kind of fluid medium except
air and water.

2. Do not use fittings except Anti-spatter, Brass and Brass Compression Fitting
series in a place where the flame and weld spatter is produced. There is a risk
of causing fire by sparks.

3. As for applications where threads or tubes swing / rotate, use Rotary Joints,
High Rotary Joints or Multi-Circuit Rotary Block only. The other PISCO products
can be damaged in these applications.

4. Use only Die Temperature Control Fitting Series, Tube Fitting Stainless
SUS316 Series, Tube Fitting Stainless SUS316 Compression Fitting Series
or Tube Fitting Brass Series under the condition of over 80T (140° F) water
or thermal oil. Other PISCO products can be damaged by heat and hydrolysis

under the condition above.

5. As for the condition required to dissipate static electricity or provide an
antistatic performance, use EG Series fitting and antistatic products only, and
do not use other PISCO products. There is a risk that static electricity can
cause system defects or failures.

6. Avoid any load on PISCO products, such as a tensile strength, twisting and
bending. Otherwise, there is a risk of causing damage to the products.




PISCO.

http://www. PiSC0.CO.jp

/A\ Caution I

1.In case of using non-PISCO brand tubes, make sure the tolerance of the outer
tube diameter is within the following limits of Table 1.

ONILLIS

@ Table 1. Tube O.D. Tolerance

H371704LNOO

21.8mm — +0.05mm 21/8 +0.1mm +0.15mm s
23mm = £0.15mm 25/32 £0.1mm £0.15mm P
g4mm +0.1mm +0.15mm 23/16 +0.1mm +0.15mm m
@6mm +0.1mm +0.15mm a1/4 +0.1mm +0.15mm
28mm +0.1mm +0.15mm 25/16 +0.1mm +0.15mm
210mm +0.1mm +0.15mm 23/8 +0.1mm +0.15mm
@12mm +0.1mm +0.15mm @1/2 +0.1mm +0.15mm
@16mm +0.1mm +0.15mm 25/8 +0.1mm +0.15mm

2. Instructions for Tube Insertion
@ Make sure that the cut end surface of the tube is at right angle without a
scratch on the tube surface and deformations.

43050-0L-3%VI

o
Bl
=]
S]
=
S
S
%]

® When inserting a tube, the tube needs to be inserted fully into the push-in
fitting until the tubing edge touches the tube end of the fitting as shown in
the figure below. Otherwise, there is a risk of leakage.

Tube end O x

- -

I. II . Sealing

Tube is not fully inserted up to tube end.

|
Series

® After inserting the tube, make sure it is inserted properly and not to be
disconnected by pulling it moderately.

3. Instructions for Tube Disconnection
(D Make sure there is no air pressure inside of the tube, before disconnecting it.

@ Push the release-ring of the push-in fitting evenly and deeply enough to pull
out the tube toward oneself. By insufficient pushing of the release-ring, the
tube may not be pulled out or damaged by scratch, and tube shavings may
remain inside of the fitting, which may cause the leakage later.




& Fitting Series

FITTING

4. Instructions for Installing a fitting
@ When installing a fitting, use proper tools to tighten a hexagonal-column or
an inner hexagonal socket. When inserting a hex key into the inner hexagonal
socket of the fitting, be careful so that the tool does not touch lock-claws.
The deformation of lock-claws may result in a poor performance of systems
or an escape of the tube.

@ Refer to Table 2 which shows the recommended tightening torque. Do not
exceed these limits to tighten a thread. Excessive tightening may break
the thread part or deform the gasket and cause a fluid leakage. Tightening
thread with tightening torque lower than these limits may cause a loosened
thread or a fluid leakage.

® Adjust the tube direction while tightening thread within these limits, since
some PISCO products are not rotatable the installation.

@ Table 2: Recommended tightening torque / Sealock color / Gasket materials

M3 X 0.5 0.7N'm SUS304
M5 X 0.8 1.0 ~ .5N'm NBR
M6 X 1 2 ~2.7N'm
Metric thread M3 X 0.5 0.5 ~0.6N'm —
M5 X 0.8 1 ~1.5N'm
M6 X 0.75 0.8 ~ 1N'm POM
M8 X 0.75 1~2N'm
R1/8 7 ~9N'm
. R1/4 12 ~ 14N'm .
Taper pipe thread R3/8 25 - 24N White —
R1/2 28 ~ 30N'm
Unified thread No.10-32UNF 1.0 ~ 1.5N'm — SUS304. NBR
1/16-28NPT 7 ~9N'm
. . 1/8-27NPT 7 ~9N'm
Nat"’”at'a‘:)'zre thread ™ 4 18NPT 12 ~ 14N'm White —
3/8-18NPT 22 ~ 24N'm
1/2-14NPT 28 ~ 30N'm

% .These values may differ for some products. Refer to each specification as well

5.Instructions for removng a fitting
@ When removing a fitting, use proper tools to loosen a hexagonal-column or
an inner hexagonal socket.

® Remove the sealant stuck on the mating equipment. The remained sealant
may get into the peripheral equipment and cause malfunctions.

B.Arrange piping avoiding any load on fittings and tubes such as twist, tensile,
moment load, shaking and physical impact. These may cause damages to
fittings, tube deformations, bursting and the escape of tubes.



PISCO offers make-to-order products

to support customer's various requirements

such as special specifications,

and special appearances.

RPISCO
lhep)

$19na04d
43050-0L-3)VI

754




Make-to-order products

Special Options

B Characteristics IIIIIIININEGEGG
@®Color option
Light-gray color option for resin body and release-ring.

@ Seal rubber material option
Seal Rubber Selection: FKM or EPDM.

@ Oil-free option
Suitable for Oil-free Enviroment.

® Release-ring color option
Changeable to Red Color

®Non-purple option
Suppress CU ion and F ion.

% Note: With this option, Check Valve and Stop Fitting, etc. do not have marking on the
brass parts. Be careful when piping.

MAKE-TO-ORDER
PRODUCTS

755

% Contact the nearest sales office for other special specifications.



Bl Model Designation (Example) IS

-

Model code example
(See next page for applicable products)

Body color

Seal rubber material

PISCO.

http://www. PiSC0.CO.jp

-0 | |

T

Seal option

Release-ring color

Lubrication
(D Body color
Code W No code
Body color Light-gray Standard color

% . W: Release-ring color is light-gray

@ Seal rubber material

Code

F

-E

No code

Material

FKM EPDM (Qil-free)

Standard seal rubber

% 1. FKM: Release-ring color is brown. Non-purple option is not available with FKM option.
% 2. EPDM: All oil-free. Release-ring color is yellow.
% 3. EPDM: Not available for Thread size M3, M6 and Fittings with Inch sized Tube dia.

® Lubrication

Code

-D

No code

Option

Oil-free

Standard lubrication

% 1. Oil-free : Release-ring color is yellow.

% 2. The products with oil-free option are assembled without intentional use of lubrication through its production process. It

may cause problems such as degradation of airtightness and increase of friction.

@ Release-ring color

Code

-R

No code

Color

Red

Standard color

(® Seal option (Taper pipe thread only)

Code

P

No code

Option

Non-purple

Standard

% 1. Non-purple option is not available with seal rubber FKM

% . See next page for “Reference Chart of Special Option”
% . Contact the nearest sales office for the price.

430H0-0L-INVN

o
Pl
=]
S
=
S
S
@




Make-to-order products

- [l Reference Chart of Special Option
=2
E O : Available. X : Not available
- Standard soec:|f|cat|on Special specification
§ ) ©)
5] Series Sl (Chllel ey Seal Seal |Body color| Seal rubber material | Lubrication rgucw Sea\ outmn
= and Packaging rubber | Lubrication - *2 *3 = *2
g Option celies material optlon W 'F E 4 P
: EL e ﬁm
& Tuberittng Standard Series - Black | Black - O*s @]
e o - - Turbin oil
< Light-gray |Light-gray  Light-gray NBR — Std.option| O O O X ©)
Clean-room pkg |Light-gray |Light-blue Fuorochemical - O | O* | O X X
Light-gray + Clean-room pkg | Light-gray | Light-gray gease Std.option| O O ®) X X
w
D Tube Fitting Mini Series = Black | Black - = o* | O (@) O @]
urbin ol
= Light-gray Light-gray | Light-gray Std.opton| O O (@) X O
NBR Wi sesock coat
Clean-room pkg |Light-gray |Light-blue Fliorochemical - O O | O=° X X
Light-gray + Clean-room pkg | Light-gray |Light-gray Jeese Std.opion| O O O X X
Tube Fiting Stainless SUS304 Series - Black |Dark-blug| FKM |Turbin oil| Whssdosteoet | X |Std. spec.| X O X X
v s USHOSEqlntComosty S = Black |Dark-blue| HNBR |Turbin oil | Wihsateicsd | O O | O | O | X (@)
o« "
B,  Tube Fitting EG Series - Black | Black | NBR |Turbin oil | Whsamioid | X O | O] x X O
g% Tube Fitting Brass Series - - — | HBRIFNGR | Turbin oil | Whsakesd | X |Std.opion| O @) X @)
L& TubeFitting Long Type - — | Black | NBR |Turbinoil| Wrsssoe| X | O* | O ®) ©) O
=
Speed Controller Series = Black | Black —_— - | O* | X X O O
urbin ol
Light-gra Light-gray | Light-gray Std.option| O X X X O
gnt-gray .Q'QY.QQYNBR [r— p!
Clean-room pkg |Light-gray |Light-blue Fluorochemical - O X X X X
Light-gray + Clean-room pkg | Light-gray | Light-gray gease Std.opton| O X X X X
Sped ontoler SUS303 Equivalent Corrogivity - Black |Dark-blue| HNBR | Turbin oil| skt | O O X X X O
EATq  Throtte (Needle) Valve Standard Series = Black | Black bl - | os | x x o | o
Light- Light: Light- Std. opti X X X
ght-gray fg ey |Lghtgey | on it | LR @] O
Clean-room pkg | Light-gray | Light-blue Fluorochemical = O X X X X
Light-gray + Clean-oom pkg | Light-gray | Light-gray grease Std.opion| O X X X X
Fixed Orifice Joint Series - Black | Black | NBR |Turbin oil | Uitsaieedt| O O O O |O®| O
Regulator Series e, vs, . v uw - Black | Black | NBR |Turbin oil | litsaket| O X X X O* (@)
Check Valve Series - Black | Black | NBR |Turbin ol |Winsakes | O*10 | X X x | O] O
Check Valve Series (Resin Type) = Light-gray | Light-gray| NBR | Turbin oil | Wiseatekeo2 | Std. option |~ X X X X @]

3% 1. W: Release-ring color is light-gray

3% 2. Seal option non-purple is not available with seal rubber material FKM

% 3. EPDM: All oil-free. Release-ring color is yellow. Thread size M3, M6 and Fitting with inch sized Tube dia are not available.
% 4. Release-ring color: Yellow.

% 5. Release-ring color: Brown.

% 6. Release-ring color: Light-blue.

% 7. Release-ring color: Dark-blue.

% 8. Release-ring color: Black

% 9. Release-ring Red is not selectable with body color Light-gray.

% 10. Not available for CVU4-4, CVU6-6 and CVU8-8.

%% Contact the nearest sales office for other special specifications.



PISCO.

http://www. PiSC0.CO.jp

M Reference chart of Apperance Color Combination (For Fitting) Il

mm Size m “ ‘ ‘ “
inch size ‘ ‘ ‘. "
| W )] )] )]
mm size g = e g ¥ o
Light-gray
) Y, vy V) <5
inch size §g
i = il o 2=}
Tube Fitting Standard Series e < - - =
Tube Fitting Mini Series
"‘JL "‘JL "‘JL "‘JL
mm size
Clean-room pkg — — — —
3 3 3 3
inch size
mm size ‘\i-‘ : ‘\i-‘ ‘\i-‘ ; ‘\i.‘

Rt
(R

Light-gray
+

Clean-room pkg g p
. Y
inch size

- mm size

) )
TubeFiting Stainless SUS304 Series - mm size a Std. spec. a

ﬂ_r_ N ﬂ_r_ Y

T Staess SUSHREauivlent Corrsity Series:

Light-gray mm size




I Make-to-order products

B Reference chart of Apperance Color Combination (For Controller) I

]
=
£ Resin color Seal rubber material|  Release-ring color
w
SENES] or Tube dia.
Option
5]
= i i
= =
[o] .
o mm size
w
>
> —
< - N
>
inch size
w L) L
23]
o}
=
" Size % %
Light-gray
o
=1
5'% inch size o - 1
=8 ) ) ) J
=]
=% |Speed Controller Series
Throttle (Needle) Valve Standard Series
Clean-room pkg
759
inch size - - |
L] 4 L] 4
Light-gray
+
Clean-room pkg
inch size - - 1
L] / L] 4

%% Contact the nearest sales office for other special specifications.



PISCO.

http://www. PiSC0.CO.jp

Space-Saving Options

B Characteristics IIIIIIININEG
@ Suijtable for Installing in Limited Spaces.

B Model Designation (Example) IS

?LCJSHE@

Tube Fitting l Mini type
©) % . Note) Model code without “M” is regarded
Type as Tube Fitting Standard Series.
@ @ .
Tube dia. Thread size
@ Type
Code Type Code Type Code Type o=
L Elbow B Branch Tee D Run Tee g
@ Tube dia.
Code 8 10
Size (mm) 28 210

® Thread size

Thread size Taper pipe thread
Code 01 02 03
Size R1/8 R1/4 R3/8




I Make-to-order products

o 1’ Elbow ﬁ

E 19

w

E j

3

=

=

8

w

3

<

il \odel code

u PL8-01M R1/8 8 225 18.5 12 11.9

2 PL8-02M 8 R1/4 " 255 18.1 19.5 14 21.9 15 17.5

~  PL8-03M R3/8 12 26.5 20.2 17 27.9
PL10-02M R1/4 " 27 21 14 20.9
—_— 20.2 24.
PL10-03M 10 R3/8 12 28 0 21.7 17 a4 18 28.8
. "L"is a reference value for height dimension after tightening thread.

33

=]

Ec\_

761

1.33]' Branch Tee £ £

b |
R
Unit © mm
Model code Tub%end
PB8-01M R1/8 8 225 18.5 12 12.8
PB8-02M 8 R1/4 " 255 18.1 19.5 14 21.9 15 18.2
PB8-03M R3/8 12 26.5 20.2 17 26.1
PB10-02M R1/4 " 27 21 14 22.3
————— 20.2 o
PB10-03M 10 R3/8 12 28 0 21.7 17 244 18 30.4

%. "L"is a reference value for height dimension after tightening thread.

%% Contact the nearest sales office for other special specifications.



PISCO.

http://www. PiSC0.CO.jp

f=l=N) Run Tee

Unit : mm
PD8-01M R1/8 8 44.2 18.5 12 11.9
PD8-02M 8 R1/4 " 47.2 18.1 19.5 14 21.7 15 17.5
PD8-03M R3/8 12 48.2 20.2 17 25.3
PD10-02M R1/4 " 52.3 21 14 21
PD10-03M 10 R3/8 12 5313 202 21.7 17 253 18 28.8

% .L" is a reference value for height dimension after tightening thread.

=
o=
BB
[
==
SO
33
[Zr=]
m
3




